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Question Number : 1 Question Id : 97675518391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter series :

NR,  ,DH,YC
Options :

1. ¥ HM

2.¥v' M

3. % JL

4. % KL

Question Number : 1 Question Id : 97675518391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafiRad sieR g & g ug J1d &
NR,  ,DH,YC

Options :

1. ¥ HM

2. ¥ IM

3. % JL

4. % KL

Question Number : 2 Question Id : 97675518392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.
1. STALKER

2. STALKED

3. STALLER

4. STAINED

5. STAMPED

Options :

1.¥421,3,5

2. % 12345

3. % 2,14,35

4. % 12435

Question Number : 2 Question Id : 97675518392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T T Wsal 1 39 HH & HafRUd P S v H d TGdRI A 5Id 5|
1. STALKER

2. STALKED

3. STALLER

4. STAINED

5. STAMPED

Options :




1.9 421,35
2. % 1,2345
3.% 21435
4. % 12435

Question Number : 3 Question Id : 97675518393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair in which the words share the same relation as that shared by the words in the given two pairs:

Maharashtra: Mumbai :: Gujarat: Gandhinagar
Options :

1. ¥ Odisha: Panjim

2. ®* Nagaland: Gangtok

3. ¥ Kerala: Thiruvananthapuram

4. # Himachal Pradesh: Chandigarh

Question Number : 3 Question Id : 97675518393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I G BT T P O e da! A& AT HRd & off 1GU 7Y & JiHT H Xeq | gRT A3 fhd T 6
HERIYT : HHI3 :: ORI : MPFR

Options :

1. % 3ffgem . dioH

2. % ANTAS : TACIP

3. ¢ I : FpaayRy

4“%%9%3@&‘@

Question Number : 4 Question Id : 97675518394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question.



MTA : JQX : GNU :: ?
Options :

1. # ENY : CKD : SMF
2. # FNY : NML : SKD
3. #* EMR : DNF : XCB
4, ¥ EOY : BLV : YIS

Question Number : 4 Question Id : 97675518394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SIS BT I B S Uy H &) 715 ol I JHH TR § eI 7|
MTA : JQX : GNU :: ?

Options :

1. ¥ ENY : CKD : SMF

2. ¥ FNY : NML : SKD

3. ¥ EMR : DNF : XCB

4. ¥ EOY : BLV : YIS

Question Number : 5 Question Id : 97675518395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If LOCK is coded as 14-13-5-9, then what is the code for PEST?
Options :

1. % 18-3-20-18

2. % 18-4-21-19

3. % 17-4-20-19

4, ¥ 18-3-21-18

Question Number : 5 Question Id : 97675518395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e LOCK BT 14-13-5-9 & U H PHIfSd fHa1 T g, af PEST & folT s g2



Options :

1. % 18-3-20-18
2. % 18-4-21-19
3. % 17-4-20-19
4.+ 18-3-21-18

Question Number : 6 Question Id : 97675518396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If RUSTY is coded as PSQRW, then what is the code for FLARE?
Options :

1. * EKZQD

2. ¥ DJYPC

3. % CIXOB

4. % ELYSC

Question Number : 6 Question Id : 97675518396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ife RUSTY &I PSQRW & =0 H Pifesd foodr a1 8, O FLARE & oI s Fm 82
Options :

1. ¥ EKZQD

2. ¥ DJYPC

3. % CIXOB

4. % ELYSC

Question Number : 7 Question Id : 97675518397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If P $ Q means P is the husband of Q; P ! Q means P is the mother Q and P * Q means P is the daughter of Q, which of the following shows that Z
is brother of W's wife, if Z is male?

Options :



.¥ W*XS$Y!Z
2V WEX*Y!Z
3. WEX!1Y*Z
4. % W*X1Y$Z

Question Number : 7 Question Id : 97675518397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IREPSQPBTIAHITPL QHBTURG; P! QBTIHIZ P, QB ATIZ MM P * QBT 3Rf g P, Q B 9T g, MuffRa A A pguiarg fv z, w o
Tdl T HTS 8, TG Z [N &7

Options :

.#*¥ W*XS$Y!Z

2.V WEX*Y!Z

3. WSX!Y*Z

4. * W*X'1Y$Z

Question Number : 8 Question Id : 97675518398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vishal, Tanmay, Zain, Yashi, Rishi and Manish are sitting in a circle facing the centre. Rishi is opposite Manish, Yashi is to the left of Vishal who is
opposite Tanmay. Who is to the left of Zain, if Manish is between Zain and Vishal?

Options :

1. # Vishal
2. # Tanmay
3. # Rishi
4. ¥ Manish

Question Number : 8 Question Id : 97675518398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fo=ma, a7 g, oF, ar=i, BN 3R 7Y 6% & T 48 R U R H 96 & | BN, T-Y & G- do1 §, I, fa=ma & a1% iR 9818 S
T & WA | afe T O SR faener & ofe B 961 8 o 99 & a1 3R HH 12




Options :
1. % fa=mma
2. % d4HY
3. % By
4. T

Question Number : 9 Question Id : 97675518399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : All doors are windows.
Statement 2 : Some doors are gates.

Conclusion I : Some windows are gates.
Conclusion II : No gates are windows.

Options :

1. ¥ Only conclusion I follows
2. % Only conclusion II follows
3. # Both I and II follow

4. # Neither I nor II follows

Question Number : 9 Question Id : 97675518399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy H ¢l pYF feu u g, 59 91 &l e 1 3R 11 AT MU B 1 3Mueh! 37 SUHi bl I8! A1 8, Y 81 I8 ITHIId: J1d a2 3 i Udhid 87|
3! T fufa &= ] fob faw u fowsf & @ i, afe 13 8, @ fou T et & § S/ aRur rar B

FHY 1: g} A fasfear |
HY 2: $S &AM GR 6|

WI:W@WW%I
ey 11: BIS gR fasfear T8 8|



Options :

1. ¢ Had [T5HY [ 3IIRVT Bl §
2. % §Had [SHY 11 ST BT §
3. % 1 3R 11 GF SERUI &R §
4. % 1 3R B 11 SR el §

Question Number : 10 Question Id : 97675518400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by three conclusions, I, IT and III. You have to consider the statements to be true even if it seems
to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : Some cars are scooters.
Statement 2 : All scooters are buses.

Conclusion I : Some scooters are cars.
Conclusion II : Some buses are cars.
Conclusion III : All cars are buses.

Options :

1. * Only conclusion I follows

2. % Only conclusion I and II follows
3. % Only conclusion I and III follows
4. * All conclusions I, IT and III follow

Question Number : 10 Question Id : 97675518400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy H &t pyA feu e §, e 1e i s 1,11 iR 111 fRT T B 1 3ueh! 39 Y=l 1 I8! AT §, WA B U8 ITHRIG: J1d 9 3 i
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Options :

1. % Had [SHY [ IR Hdl §

2. ¥ Had AHY [ 3R 11 38R0 Hd §
3. % had FApY [ 3R 111 STIRU 6 §
4. % U} F5BY 1, 11 3R 111 SR 6’ §

Question Number : 11 Question Id : 97675518401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question statement are given, followed by two arguments, I and II. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which argument(s) is/are strong based on the information provided.

Statement : Should the private sector be completely nationalised in India?

Argument I : Yes, the only way to develop the private sector is by nationalising them.
Argument II : No, because after nationalisation the private sector will operate less efficiently.

Options :

1. # Only argument I is strong
2. % Only argument II is strong
3. ¥ Both I and II are strong

4. ¥ Neither I nor II is strong

Question Number : 11 Question Id : 97675518401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy H, U Sy feur mar 8, S 91g 1 adh 1 3R 1 fRT U § 1 3TUeh! 39 Sy &) I AT ], YA 81 I8 IMHRIG: I1d a2  fie ueita
Bl 3MTUD! T TS THBRI b YR TR T BT § 10 B DI ddb AoIgd 6/8 |
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Options :

1. % %Hqd dd [ Aed §

2. % §Had ab 11 ASgd §
3. % [ 3R 11 3 Aolgd &
4.« F1RAG 19 &

Question Number : 12 Question Id : 97675518402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If -2x <-13 + 5, then which among the following is true?
Options :

1. % x>3

2. % x<6

3.¥ x>4

4. ¥ x<8

Question Number : 12 Question Id : 97675518402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g -2x <-13 + 53, Al AAARIA T ¥ DIF 1 9 82
Options :

1. % x>3

2. % x<6

3.¥ x>4

4, % x<8

Question Number : 13 Question Id : 97675518403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which two numbers should be interchanged to make the below equation mathematically correct?
15+48 +3x4-12=39

Options :



1. % 15,12
2.¥434

3.% 4,12
4. % 15,48

Question Number : 13 Question Id : 97675518403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e feu 7T gHiER0 &1 ot 99 & ford foo & Twarafi &l TOTdg 0 ¥ IRER SGa-T agu?
15+48+3%x4-12=39

Options :
1. % 15,12
2.9 3,4
3.% 4,12
4. % 15,48

Question Number : 14 Question Id : 97675518404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given Venn diagram shows the number of students in a class who can speak various languages. How many students can only speak one
language?

English
French vv
Hindi
Options :
1. % 18

2. % 36



3.9 34
4. % 16

Question Number : 14 Question Id : 97675518404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T a1 37 ST T H&fT A BT o1 T bl <=idr g S fAfis HToTd et Iepd & | fha 919 had Teb IV S Jobd &2

C ]

%?

BT

Options :
1. % 18
2. % 36
3.¥ 34
4. % 16

Question Number : 15 Question Id : 97675518405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ashish cycles 11 km south, then turns west and cycles 8 km, then turns north and cycles 6 km, then turns east and cycles 2 km, then turns to his left
and cycles 5 km. Where is he now with reference to his starting position?

Options :

1. ¥ 6 km west
2. # 6 km east
3. # 8 km east



4. % 8 km west

Question Number : 15 Question Id : 97675518405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R 11 km SF&M0T &1 SR Arsfore Taran 8, fhR uff o1 3R gSa1 g 3R 8 km ITSfhd Il 7, fh SR &t 3R 31§ 3R 6 km
TR d Il g, fhR gd Bt 3R TS 8 3R 2 km ATSfhd TAT &, IR 301 912 3R ST § 3R 5 km ATSibd IalTdl ¢ | 30T URMNS
fufa & Fay & 31d 98 Fgl 82

Options :

1. ¢ 6 km g

2. % 6kmJd

3.% 8 kmd

4. % 8 km UigH

Question Number : 16 Question Id : 97675518406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Richa walks 4 km in south-east direction, then she turns 90° to her left and walked for another 0.5 km, she then turns 180°. Which direction is she
facing now?

Options :

1. # north-east
2. ¥ south-west
3. # north-west

4. % gouth-east

Question Number : 16 Question Id : 97675518406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

E%Tﬁ&ﬂ&é%&fﬂﬁ4kmﬂﬁ?ﬂ%,ﬁﬂa€900 3T 913 3R Gt § 3R 0.5 km 3R Tt &, R 98 180° TSl 51 3@ ST Hg foo fa=m

Options :
1. % IR-gd



2. ¥ Glau-uiay
3. % ITR-UEH
4. % Tfarorgd

Question Number : 17 Question Id : 97675518407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the series of the question figure?

$ % @ * a/ $\t )
# O % )
o O o
Options :




4.9

Question Number : 17 Question Id : 97675518407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifed & @ o T ST A1HA U 31Hia B YTa o R Rl 82

O O o

Options :



1. %
#O%*
2. % e
3. %
@$o+
#O %
4. ¢ —

Question Number : 18 Question Id : 97675518408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option that is related to the third image on the same basis as the second image is related to the first image.

X ™= + 1:]'
[ ] [ I L ]
b O o |* 1 w o t 1 & ?
+ O % O O E* 4

Options :
2 A

P

1.v¥

[ ¢ =
&

[
==

=3
(i




= [T1
>

Question Number : 18 Question Id : 97675518408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I fadhed &1 99+ B ol ekt Bid I I ThR J Fad g o TR ¥ gerl id ugel 8fd J el g |

X b t i
LN L ]
ol O ™ + X Y .T.‘ - » ?
+ o £ O m| E = A
Options :
i A
H J
= <=
1.

()
e




75 &=
= A
3. %
\
- A
f
4. %

Question Number : 19 Question Id : 97675518409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the question figure?

Options :
1.¥ 10
2. %6



3.% 8
4. % 12

Question Number : 19 Question Id : 97675518409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3 § fb e FBryer 82

Options :
1.¥ 10
2.% 6
3.% 8
4. % 12

Question Number : 20 Question Id : 97675518410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.



™
IZEN

Options :




3.¢

Question Number : 20 Question Id : 97675518410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 TTS ITR SATHIA W, I Ml BT T4 DY orH Y 3hid fesdlafaed g
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Options :




3.¢¥
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Group Id : 976755571
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awareness

Section Id : 9767551001
Section Number : |

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551158
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 97675518411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Powada are usually ballads sung for the heroes of the past. It is associated with which of the following states?
Options :

1. ®# Tamil Nadu



2. % Maharashtra
3. ¥ Madhya Pradesh
4. ® QOdisha

Question Number : 21 Question Id : 97675518411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QIATST AR WR 3fciid & 1| & forg MY S ara Murhid §1 g Fafeied & 9 frg Tsa S o183 /2
Options :

1. % A Tg

2. ¥ HgRIY

3. % O UYST

4. % ifg=m

Question Number : 22 Question Id : 97675518412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Performed by the community of snake charmers, dance involves dancers emulating the movements of snakes.
Options :

1. ¥ Kalbelia

2. % Ghoomar

3. % Kachchhi Ghodi

4. % Chari

Question Number : 22 Question Id : 97675518412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ORI o Y gRT UK, T H 0 & T HT 3HRUT HA dTd A M gIdl g
Options :

1. ¢ DIeafer

2. % PR

3. % HB gIel




4. % IRy

Question Number : 23 Question Id : 97675518413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
was called the First Truly Swadeshi bank and it was founded in the year 1911.

Options :

1. ¥ Bank of Baroda

2. % Punjab National Bank
3. # (Canara Bank

4. ¥ Central Bank of India

Question Number : 23 Question Id : 97675518413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

D! AT ARTdh RN S HgT oiTaT U7 3R ! R ay 1911 H g8 i
Options :

1. % S 31 FeIal

2. % UOd ATFd o

3. #® BRI dH

4.« Ycd 9 3 SfSar

Question Number : 24 Question Id : 97675518414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As announced in the Budget 2021, to promote seaweed cultivation, Govt. will establish Multipurpose Seaweed Park in by Indian
Government.

Options :

1. # West Bengal
2. % Assam

3. % Tamil Nadu
4. % Pondicherry



Question Number : 24 Question Id : 97675518414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wzoﬁ@@ﬂ%%,ﬂﬁﬂﬁﬂﬂﬂﬁ@?ﬁﬁ@ﬁ%%ﬁwwm‘Hlm WHR o Tg e It ard Ut B
RITIHT HT |

Options :

1. * Uiy &
2. % 34H

3. i g
4. % OISR

Question Number : 25 Question Id : 97675518415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the scientific name of Vitamin D?
Options :

1. #* Tocopherol

2. ¥ Calciferol

3. * Thiamine

4. % Riboflavin

Question Number : 25 Question Id : 97675518415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fqe1fiE D &1 asfe AT T |2
Options :

1. % SpIhRIc

2. ¢ HieaIa

3. % Yrafid

4, % Rarifa



Question Number : 26 Question Id : 97675518416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are called the amphibians of the plant kingdom.

Options :

1. ¥ Bryophytes
2. # Angiosperms
3. # Pteridophytes

4. % Gymnosperms

Question Number : 26 Question Id : 97675518416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DI FIRUI-SITd Bl SHUTAR el Sldl % I

Options :

1. ¢ SBIEel

2. % JTgdareil

3. % TRSmger
4. % SISOl

Question Number : 27 Question Id : 97675518417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Snails belongs to animal phylum.
Options :

1. # Anthropoda

2. % Mollusca

3. % Echinodermata

4. % Platyhelminthes

Question Number : 27 Question Id : 97675518417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
el grer U Y J YEfd €
Options :

1. * iR

2. ¢ HITD]

3. % EaH

4. % QTR

Question Number : 28 Question Id : 97675518418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following mountain ranges is the longest in the Lesser Himalayas?
Options :

1. # Mahabharat Lekh

2. * Dhauladhar

3. ¥ Pir Panjal

4. % Nag Tibba

Question Number : 28 Question Id : 97675518418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaied & 9 & W gaqarar oY ffAeg & 9a9 del qddqTe 82

Options :
1. % AgIYRd og

Question Number : 29 Question Id : 97675518419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Black soil is also known as 'Black Soil'.



Options :
1. # Maize
2. ¥ Cotton
3. # Rice

4. ¥ Bajara

Question Number : 29 Question Id : 97675518419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FIN A DI BT Tal' & A9 I R TS g
Options :

1. # Hahl

2. ¥ U

3. % dIdd

4, % dIoR

Question Number : 30 Question Id : 97675518420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Baglihar Dam, built across Chenab river, is located in
Options :

1. ¥ Jammu and Kashmir

2. ¥ Punjab

3. # Uttarakhand

4. ¥ Himachal Pradesh

Question Number : 30 Question Id : 97675518420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FIER 1Y Sl Pt IS e} & 3R IR S9101 TT § AT
Options :

1. ¥ S0 3R HIHR




2. % Uolld
3. % JRES

4. % fgrmEq yew

Question Number : 31 Question Id : 97675518421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Rowlatt Act of 1919 was termed as the Act.
Options :

1. ® Red

2. % Blue

3. # White

4. ¥ Black

Question Number : 31 Question Id : 97675518421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1919 % 3dic TIE B TR 1 AR I TS |
Options :

1. ® ¢l

2. % el

3. % gbg

4. & DIl

Question Number : 32 Question Id : 97675518422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the second battle of Panipat fought?
Options :

1. % 1628

2. % 1761

3. ¥ 1556



4, % 1527

Question Number : 32 Question Id : 97675518422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
MU &1 GORT g hd AT T UT?
Options :

1. % 1628

2. % 1761

3. ¥ 1556

4. % 1527

Question Number : 33 Question Id : 97675518423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1945, Shimla Conference was proposed by to solve the political deadlock.
Options :

1. ¥ Lord Wavell

2. ¥ Lord Cornwallis

3. #* Lord Canning

4. % Lord Irwin

Question Number : 33 Question Id : 97675518423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1945 H, ST TMRIY DI G DR o fe1T SR TR S GdTiad fobam 7 |
Options :

1. ¢ dls ddd

2. % dle AT

3. % QIS B

4. % dls 3fda




Question Number : 34 Question Id : 97675518424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
We Are Displaced' is written by

Options :

1. # Venkaiah Naidu

2. ¥ Malala Yousafzai

3. # Shashi Tharoor

4. ¥ Meenakshi Lekhi

Question Number : 34 Question Id : 97675518424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

d 3R fETwere: FRARCIKI ]
Options :

1. % JHaTATg

2. AT GBS

3. % TR PR

4. % HIEH oG

Question Number : 35 Question Id : 97675518425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following films won the Oscar award 2020 for the Best International Feature Film of the year?
Options :

1. ¥ Parasite

2. * Pain and Glory

3. ®* Honeyland

4. % Corpus Christi

Question Number : 35 Question Id : 97675518425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fgfeied # 9 fd fther 3 9 &1 Td9y SIRIPIY BIeR fher o 7T 3R GRIBR 2020 ST
Options :

1. ¢ IR

2. % U TS TRI

3. % glds

4. % i fopc

Question Number : 36 Question Id : 97675518426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

United Nations Children's Fund (UNICEF) was founded in
Options :

1. #1948

2. % 1947

3. % 1945

4. ¥ 1946

Question Number : 36 Question Id : 97675518426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y Y S IV () I RITAT dgs
Options :

1. % 1948

2. % 1947

3. % 1945

4. % 1946

Question Number : 37 Question Id : 97675518427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The concept of Fundamental Duties in the Indian constitution is borrowed from the constitution of



Options :

1. # France

2. ¥ Canada

3. % Union of Soviet Socialist Republics (USSR)
4. ¥ Ireland

Question Number : 37 Question Id : 97675518427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AL § Mid dacd! B SaeRom & ATy 9 IYR o 718 5|
Options :

1. % Y

2. ® dAlS]

3. ¢ Qagd JHISIAIG] TUIGH| &1 9 (USSR)

4. % RS

Question Number : 38 Question Id : 97675518428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following constitutional amendments is associated with the formation of Arunachal Pradesh legislative assembly?
Options :

1. % 25th

2. % 37th

3. % 28th

4. % 32nd

Question Number : 38 Question Id : 97675518428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed & @ & a1 Jaufe TNy SRR TRl faUm THT & T3 J ST /2
Options :

1. % 25d



2.+ 37d
3. % 289
4. % 309

Question Number : 39 Question Id : 97675518429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who won the BBC Indian Sportswoman of the Year 20217
Options :

1. # Sania Mirza

2. ¥ Saina Nehwal

3. % P.V. Sindhu

4. ¥ Koneru Humpy

Question Number : 39 Question Id : 97675518429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 2021 BT BBC ST WIcHgH fpa Sitar
Options :

1. % - frr

2. % HreAT Agdd

3. % 414l Ry

4. ¢ P gl

Question Number : 40 Question Id : 97675518430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Solheim Cup is associated with which of the following games?
Options :

1. ¥ Golf

2. ¥ Hockey

3. #® Cricket



4. % Football

Question Number : 40 Question Id : 97675518430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hieed U Fafied 7 3 fby wa 3 I318?

Options :
1. ¢ e
2. % giobt
3. % fohobe
4. % pedld

Arithmetic Ability
Group Number : 3
Group Id : 976755572
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 9767551002
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20



Section MarKks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551159
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 97675518431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the LCM of 24 and 36?

Options :

1. % 44

2.9 72

3. % 36

4. % 48

Question Number : 41 Question Id : 97675518431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
24 3R 36 HT TYTH THYTAD T 62
Options :

1. # 44

2.9 72

3. % 36

4. % 48

Question Number : 42 Question Id : 97675518432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What must be added to 45680 to make it exactly divisible by 9?
Options :

1. %1

2.%0



3.4
4. %5

Question Number : 42 Question Id : 97675518432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

45680 T T STreT ST A1RU Al 39 9 W G aRE W AU ST ST e
Options :

1. % 1

2.%0

3.4

4. %5

Question Number : 43 Question Id : 97675518433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the largest among 1/2, 2/3, 4/5, 1?
Options :

1.1

2. % 1/2

3.%2/3

4. % 4/5

Question Number : 43 Question Id : 97675518433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1/2,2/3, 4/5, 1 © T8 ST D19 I1 82
Options :

1.¥1

2. % 1/2

3.%2/3

4. % 4/5



Question Number : 44 Question Id : 97675518434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the number which on dividing 80 and 85 leaves a remainder of 3 and 1 respectively?
Options :

1.¥7

2. % 11

3.%5

4. % 6

Question Number : 44 Question Id : 97675518434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IE DI U - 5 S 80 3R 85 T TIUIRAT B IR HHRE: 3 3R | VB et 5?2
Options :

1.¥7

2.% 11

3.%5

4. % 6

Question Number : 45 Question Id : 97675518435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the least perfect square that is a multiple of 7, 11 and 12?
Options :

1. ¥ 853776

2. % 9000

3. % 45000

4. % 8100

Question Number : 45 Question Id : 97675518435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HH qUT aff pH AT g ot 7, 11 3R 12 BT 0 g2
Options :

1. ¥ 853776

2. % 9000

3. % 45000

4. % 8100

Question Number : 46 Question Id : 97675518436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average height of a class of 40 students is 100 cm. If height of the teacher is included, the average increases by 1 cm. What is the height of the
teacher?

Options :

1. ¥ 141 cm
2. % 140 cm
3. % 142 cm
4. % 143 cm

Question Number : 46 Question Id : 97675518436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSH BT & 40 B DI 3T SIS 100 cm 7| TS R Y HAms AT o1 Sl &, A 3T 1 em T 7| e &1 Hars w1 g2
Options :

1. ¥ 141 cm

2. % 140 cm

3. % 142 cm

4. % 143 cm

Question Number : 47 Question Id : 97675518437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

P borrowed an amount from Q at a simple interest of 10% p.a. At the end of the year, P paid back Rs 99000 which was 90% of what she owed.
How much money did P borrow?

Options :

1. # Rs 90000
2. % Rs 100000
3. % Rs 11000
4. % Rs 111000

Question Number : 47 Question Id : 97675518437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P Q¥ 10% Ul I8 & JTYRUN &To] TR Teb R SYR &t 81 a4 & 3fd H, P = 99000 FUY BT YT ot it fob S Mo BT 90% UTI P A
fpa U9 IR fom 22

Options :

1. % 90000 ¥UY

2. ¢ 100000 ¥UY

3. % 11000 3T

4. % 111000 TTT

Question Number : 48 Question Id : 97675518438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Saumya donates 8% of her salary as a charity. If she donated Rs 115200 in a year, what was her monthly income?
Options :

1. % Rs 10000

2. % Rs 160000

3. ¥ Rs 120000

4. % Rs 240000

Question Number : 48 Question Id : 97675518438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T 30 A BT 8% &F & ©U H gl 51 AfS I U I8 H 115200 FUT G fb, l IUSHT RIS 3 ot o
Options :

1. * 10000 >UU¢

2. % 160000 ®UUY

3. % 120000 ®49Q

4. % 240000 >4

Question Number : 49 Question Id : 97675518439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the single discount equivalent to successive discounts of 10% and 20%?
Options :

1. % 30%

2. % 32%

3. % 15%

4. % 28%

Question Number : 49 Question Id : 97675518439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiied & 9 ®1F W U6hd Be, 10% 3R 20% & HiHD Je & THHE 52
Options :

1. % 30%

2. % 32%

3. % 15%

4.9 28%

Question Number : 50 Question Id : 97675518440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A trader cheats his customers by using weight x% less than the true weight. On selling an item worth Rs 2000 per kilo at the cost price he makes a



profit of 25%. What is the value of x?
Options :
1. ¥ 20%
2. % 25%
3. % 30%
4. % 50%

Question Number : 50 Question Id : 97675518440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH ATIRT 30 UTEH| Bl TG Toi A HH x% T BT SUINT HXb YT ol § | AT Jed TR 2000 BUT Ufdl fovett & e & g o R
TT 25% T ATYH U BT & | x BT ol FT 82

Options :

1. ¥ 20%

2. % 25%

3. % 30%

4. % 50%

Question Number : 51 Question Id : 97675518441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 70 litre mixture has liquids A and B in the ratio 5 : 9. How many litres of liquid A must be added so that the ratio becomes 2 : 3?
Options :

1. ¥ 5 litres

2. % 4 litres

3. % 3 litres

4. # 10 litres

Question Number : 51 Question Id : 97675518441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5:9 % U H 70 flex T T 59 A IR B g1 8| fhan ©ier 59 A & Siis1 a1feu i 3uTd 2 : 3 81 SIW?




Options :

1. ¢ 5qleR
2. % 4fleR
3. % 3°fleR
4. % 10 W

Question Number : 52 Question Id : 97675518442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P and Q were to compete in a 12 km race. P takes 2 hours less than Q to complete the race. Had Q increased his speed by 100%, he would have
completed the race in 3 hours. What is the speed of P?

Options :

1. #* 1 km/h
2. % 4km/h
3. ¥ 2 km/h
4. ¥ 3 km/h

Question Number : 52 Question Id : 97675518442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P 3R Q BT 12 km B! &S H ufaegef =it oft | p IS TR A & T Q T 2 & 0 9T AT 81 TS Q 7 3T 1 100% J F¢1 <Y B, af I8
36 T IS TR HR AdT| p 1 1 ST B2

Options :

1. # 1 km/h

2. % 4km/h

3. %® 2 km/h

4. % 3 km/h

Question Number : 53 Question Id : 97675518443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A car can cover 150 km at a certain time. If its speed is decreased by Skm/h, the same car requires one hour extra time to cover the same distance.
What is the speed of the car?



Options :

1. ® 25 km/h
2. % 30 km/h
3. % 35km/h
4. % 18 km/h

Question Number : 53 Question Id : 97675518443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HR TH AT THT & 150 km B T HR bl | AR TB A 5 knvh HH P ST €, O d6l HR B JAM gl 99 B o (oY T ©e
SifAfRad T &) 3aaddl il SR &1 7] & 82

Options :

1. % 25 km/h

2. ¥ 30 km/h

3. % 35km/h

4. % 18 km/h

Question Number : 54 Question Id : 97675518444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Irina and Isla can complete a piece of work in 20 and 25 days respectively. If they were working together, what percent of the work will be
completed in 5 days?

Options :
1. # 36%
2.9 45%
3. % 40%
4. %= 30%

Question Number : 54 Question Id : 97675518444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST 3R AT HHRT: 20 3R 25 G T TH HTH R R Yhd & TS T Th Y HTH HIA §, al 5 131 # foba= ufarera & g1 g



Options :
1. % 36%
2. ¥ 45%
3. % 40%
4. %= 30%

Question Number : 55 Question Id : 97675518445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a village a well of height 60 m and of diameter 4 m was dug and the earth that was dug out was spread out in the shape of a cone of height 20 m.
What will be the radius of the cone so formed?

Options :
I. % 10m
2. % 3m
3.96m

4. % S5m

Question Number : 55 Question Id : 97675518445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH M H 60 m TS 3R 4 m T BT TH H3HT WGl 747 4T 3R St YfHy Wit 72 2 98 20 m B S8 & WP & MMHR A et 18 At Fffa
SURIP B Boar o g

Options :

1. % 10 m

2. % 3m

3. 6m

4. % 5m

Question Number : 56 Question Id : 97675518446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cone of radius 5 cm and height 12 cm was attached to a solid cylinder of the same dimensions. What will be the total cost of painting the entire
solid at the rate of Rs 10 per sq cm?



Options :

1. # Rs 660
2. ¥ Rs 6600
3. % Rs 6000
4. % Rs 66000

Question Number : 56 Question Id : 97675518446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 cm BT 3R 12 cm $dTS &1 U WP JAF G071 & U 31 RIciex I ST g3 AUTI 10 FUT Ul sq om P &x I TR 319 DI U T &1 Hdl
SICERIKHF

Options :

1. ¥ 660 %UU

2. ¥ 6600 24U

3. % 6000 ®UU

4. % 66000 °UJ

Question Number : 57 Question Id : 97675518447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following table gives the production ratio of wheat and jute.
If the total cost of production in 2018 was Rs 18 lakhs, what was the cost of production of wheat for the same year?

RATIO
YEAR

WHEAT JUTE

2017
2018
2019
2020

L= I R I~ R
(9 B N 5 T I T

Options :
1. % Rs 7.2 lakhs
2. % Rs 6 lakhs



3. # Rs 5 lakhs
4. % Rs 8 lakhs

Question Number : 57 Question Id : 97675518447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafafad arfaeT 718 ik Se & Id1e o1 3uTd Jardl ¢ |
gig 2018 H IUTGH H! HA AN 18 TG $UT &, A1 I I8 T g &b ST BI anrd o 2

G| e
i SE

4

2017

2018

2019

L= I B I = =

2020

Options :

1. ¥ 7.2 ARG ¥UQ
2. % 6 g >Uud
3. % 5cid»yud
4. % 8 clid >yud

Question Number : 58 Question Id : 97675518448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following pie chart shows (in form of degrees) the expenditure incurred during the organisation of food festival.
There were 20 workers employed for the event and each was to be paid Rs 25000 in cash. What was the total expense of the event?



Expenditure

Options :

1. ¥ Rs 1500000
2. % Rs 150000
3. % Rs 15000000
4. % Rs 15000

Question Number : 58 Question Id : 97675518448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foferad ug a1 HivH Ia & T8 & eRH 6T U oag (& & & 7 ol cuifar g |
gde & o 20 HfiT Y HTH IR T T AT 3R YAD BT 25000 FUY ¢ 3T TH | 3dC BT Had W 7 YT




Options :

1. ¥ 1500000 YU
2. % 150000 ®4U
3. % 15000000 ®4U
4. ¥ 15000 >4U

Question Number : 59 Question Id : 97675518449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following bar graph gives the average marks distributions of 50 girls and 40 boys in a class.
What is the average marks of the students in Math? [Round it off to the nearest integer]



u Girls ® Boys

30 -
45 -

35 -
30 -
25 -
20 -
i5 -
10 4

Average Marks

D -

Math Science Emglish History
Subject

Options :
1. % 24
2. %26
3. %25
4. 27

Question Number : 59 Question Id : 97675518449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
oI IR TP Ue FHam & 50 ASHal 3R 40 TSHI B 3T 3 & R0 B G 5|
TioTd & BT & 3NN 3 1 82 39 Fdvead gurie # 3R ¢



25 23
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Options :
1. % 24
2. %26
3. % 25
4.9 27

Question Number : 60 Question Id : 97675518450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The following graph gives the details of the profit earned by companies A and B in Rs lakhs over the years.
Which of the following years has the highest difference in profit between A and B?



B Company A = Company B

120 -

100 -

Profit Earned By Companies

8 & 3 8

2017

2019 2020

Year

Options :
1. % 2017
2. % 2018
3. %2019
4. ¥ 2020

Question Number : 60 Question Id : 97675518450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAafoiad 7% U= A 3R B gRT Usd $o auf § o uu & 3ifold @y &1 fawar i 8|
frafRed A 9 fea ai & A ok B & o Ay & I 31 3R 82
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BALBLER.

2017 2018

u U B

2019 2020

Options :
1. #2017
2. % 2018
3. % 2019
4. v 2020

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner?

.
.

General English

4
976755573
0

0

No

No

0

20

No



General English

Section Id : 9767551003
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551160
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 97675518451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the option
'No Error'.

Ecological connectivity can also help species adopt to future / environmental conditions and buffer / changes by bolstering ecological resilience.
Options :

1. ¥ Ecological connectivity can also help species adopt to future

2. % environmental conditions and buffer

3. # changes by bolstering ecological resilience.

4. % No Error

Question Number : 61 Question Id : 97675518451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the option
'No Error'.

Ecological connectivity can also help species adopt to future / environmental conditions and buffer / changes by bolstering ecological resilience.
Options :



1. ¥ Ecological connectivity can also help species adopt to future
2. # environmental conditions and buffer

3. # changes by bolstering ecological resilience.

4. % No Error

Question Number : 62 Question Id : 97675518452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the option
'No Error".

On 22nd May 2020, India would be launching it’s / Marine Turtle Policy aimed at addressing the / pollution caused by micro-plastics.
Options :

1. % On 22nd May 2020, India would be launching it’s

2. % Marine Turtle Policy aimed at addressing the

3. % pollution caused by micro-plastics.

4. % No Error

Question Number : 62 Question Id : 97675518452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the option
'No Error".

On 22nd May 2020, India would be launching it's / Marine Turtle Policy aimed at addressing the / pollution caused by micro-plastics.
Options :

1. ¥ On 22nd May 2020, India would be launching it's

2. % Marine Turtle Policy aimed at addressing the

3. ® pollution caused by micro-plastics.

4. % No Error

Question Number : 63 Question Id : 97675518453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the option
'No Error".

It must be compelled that during the first three decades /
of the 19th century, the development of education / took place only through the traditional institutions.

Options :

1. ¥ It must be compelled that during the first three decades
2. # of the 19th century, the development of education

3. # took place only through the traditional institutions.

4. # No Error

Question Number : 63 Question Id : 97675518453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the option
'No Error'.

It must be compelled that during the first three decades /
of the 19th century, the development of education / took place only through the traditional institutions.

Options :

1. ¥ It must be compelled that during the first three decades
2. % of the 19th century, the development of education

3. % took place only through the traditional institutions.

4. % No Error

Question Number : 64 Question Id : 97675518454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below.

"having very little money"
Options :

1. # wholesome

2. # impeccant



3. # impeccable

4. ¥ impecunious

Question Number : 64 Question Id : 97675518454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below.

"having very little money"
Options :

1. # wholesome

2. ®* impeccant

3. ®* impeccable

4. ¥ impecunious

Question Number : 65 Question Id : 97675518455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below.

"strange and unpleasant, especially in a silly or slightly frightening way"
Options :

1. #® grotto

2. ¥ grotesque

3. % grumpy

4. % grunge

Question Number : 65 Question Id : 97675518455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below.

"strange and unpleasant, especially in a silly or slightly frightening way"
Options :



1. #¥ grotto

2. ¥ grotesque
3. # grumpy
4. ¥ grunge

Question Number : 66 Question Id : 97675518456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

There is no such thing as voluntary attention for more than a few seconds at a time.
Options :

1. ¥ sustained

2. ¥ levied

3. # taken

4. #* shrunken

Question Number : 66 Question Id : 97675518456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

There is no such thing as voluntary attention for more than a few seconds at a time.
Options :

1. ¥ sustained

2. % levied

3. # taken

4. ® shrunken

Question Number : 67 Question Id : 97675518457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.



may refer to being clear of immediate or residual effects of any mind-altering substances.
Options :
1. # Sorority
2. % Austerity
3. % Sobriety
4. ® Atrocity

Question Number : 67 Question Id : 97675518457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

may refer to being clear of immediate or residual effects of any mind-altering substances.
Options :
1. #¥ Sorority
2. % Austerity
3. ¥ Sobriety
4. % Atrocity

Question Number : 68 Question Id : 97675518458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Being the

P: it is important to look through samples of essays
Q: to get a clear picture of how to write one

R: and university students,

S: most important writing task for college

on your own.

Options :
1. ¥ PSQR
2. % RSQP



3. % PSRQ
4. ¥ SRPQ

Question Number : 68 Question Id : 97675518458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Being the

P: it is important to look through samples of essays
Q: to get a clear picture of how to write one

R: and university students,

S: most important writing task for college

on your own.

Options :

1. * PSQR
2. % RSQP
3. % PSRQ
4. ¥ SRPQ

Question Number : 69 Question Id : 97675518459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Although Amazon

P: the first streaming service to produce an Oscar-winning movie

Q: screenplay in 2016, it has adopted a more

R: when Manchester by the Sea won best actor for Casey Affleck and best original
S: beat Netflix to become

low-key strategy.

Options :

1. ¥ SPRQ

2. ® PQSR



3. % SPQR
4. % PSQR

Question Number : 69 Question Id : 97675518459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Although Amazon

P: the first streaming service to produce an Oscar-winning movie

Q: screenplay in 2016, it has adopted a more

R: when Manchester by the Sea won best actor for Casey Affleck and best original
S: beat Netflix to become

low-key strategy.

Options :

1. ¥ SPRQ
2. % PQSR
3. ¥ SPQR
4. % PSQR

Question Number : 70 Question Id : 97675518460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

CAISSON
Options :

1. # Ration
2. ¥ Case

3. # Raisins
4. ¥ Monarch

Question Number : 70 Question Id : 97675518460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

CAISSON
Options :

1. # Ration
2. % Case

3. # Raisins
4. ® Monarch

Question Number : 71 Question Id : 97675518461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

"Mirage"

Options :

1. ¥ Reality

2. ® Hallucination
3. * Phantasm

4. * Fantasy

Question Number : 71 Question Id : 97675518461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

"Mirage"

Options :

1. ¥ Reality

2. # Hallucination
3. % Phantasm

4. ®# Fantasy



Question Number : 72 Question Id : 97675518462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ GORMETTE

2. % GOURMET

3. ¥ GOURMEY

4. % GORMETT

Question Number : 72 Question Id : 97675518462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. * GORMETTE

2. ¥ GOURMET

3. ¥ GOURMEY

4. ¥ GORMETT

Question Number : 73 Question Id : 97675518463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ KALAIDOSCOPE

2. % KALEIDSCOPE

3. ¥ KALEIDOSCOPE

4. # KALAIDSCOPE

Question Number : 73 Question Id : 97675518463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ KALAIDOSCOPE

2. ¥ KALEIDSCOPE

3. ¥ KALEIDOSCOPE

4. % KALAIDSCOPE

Question Number : 74 Question Id : 97675518464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

"Cook the books"
Options :

1. # Wasting a valuable resource
completing a task

2. % Using an incorrect tool for
3. # Not knowing the right thing to do

4. ¥ Dishonest accounting

Question Number : 74 Question Id : 97675518464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

"Cook the books"
Options :

1. # Wasting a valuable resource
completing a task

2. % Using an incorrect tool for
3. # Not knowing the right thing to do

4. ¥ Dishonest accounting



Question Number : 75 Question Id : 97675518465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

"chink in one's armor"

Options :

1. * Most resilient area

2. ¥ Vulnerable area

3. # Most guarded area

4. ¥ The shiny edge resembling the strengths

Question Number : 75 Question Id : 97675518465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

"chink in one's armor"

Options :

1. #* Most resilient area

2. ¥ Vulnerable area

3. ®* Most guarded area

4. % The shiny edge resembling the strengths

Sub-Section Number : 2
Sub-Section Id : 9767551161
Question Shuffling Allowed : Yes

Question Id : 97675518466 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.



Every time we Google something, Facebook someone, Uber somewhere, or even just turn on a light, we create data that businesses collect and use
to make decisions about us. In many ways this has improved our lives, yet, we as individuals do not benefit from this wealth of data as much as we
could. Moreover, whether it is a bank evaluating our credit worthiness, an insurance company determining our risk level, or a potential employer
deciding whether we get a job, it is likely that this data will be used against us rather than for us.

In Data for the People, Andreas Weigend draws on his years as a consultant for commerce, education, healthcare, travel and finance companies to
outline how Big Data can work better for all of us. As of today, how much we benefit from Big Data depends on how closely the interests of big
companies align with our own. Too often, outdated standards of control and privacy force us into unfair contracts with data companies, but it
doesn’t have to be this way. Weigend makes a powerful argument that we need to take control of how our data is used to actually make it work for
us. Only then can we the people get back more from Big Data than we give it.

The success of data mining solutions tailored for e-commerce applications, as opposed to generic data mining systems, is an example. With more
and more information accessible in electronic forms and available on the Web, and with increasingly powerful data mining tools being developed
and put into use, there are increasing concerns that data mining may pose a threat to our privacy and data security. However, it is important to note
that most of the major data mining applications do not even touch personal data. Prominent examples include applications involving natural
resources, the prediction of floods and droughts, meteorology, astronomy, geography, geology, biology, and other scientific and engineering data.

Sub questions

Question Number : 76 Question Id : 97675518467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Data mining is used for :

Options :

1. # To turn on the light

2. ¥ Making decisions about us

3. * Shaping diamond mines to give a better yield

4. % To search the correct keyword on search engines on the internet

Question Number : 77 Question Id : 97675518468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How has data mining improved our lives ?

Options :

1. # Data mined from the user is cheaply sold in the market.
2. % Data mining has barely had any impact on the society

3. % Data mined from the user tells the internet about the needs and wants of the users and give appropriate search results.



4. % Data mining requires more cookies which indeed makes the internet slower

Question Number : 78 Question Id : 97675518469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How can we utilise big data in a better fashion ?

Options :

1. ¥ We should be able to control how our data is used

2. # Everybody should be taught in detail big data and data mining
3. # Insurance companies should not be allowed to used mined data

4. % Job employer should have all the data about his employee

Question Number : 79 Question Id : 97675518470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why is data mining becoming a reason for concern ?

Options :

1. ® updated standards of control and privacy contracts with data companies
2. ¥ data mining may pose a threat to our privacy and data security.

3. #* major data mining applications do not even touch personal data

4. ¥ we as individuals do not benefit from this wealth of data as much as we could

Question Number : 80 Question Id : 97675518471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Data for the People, Andreas Weigend draws on his years as a consultant for:
Options :

1. ¥ Commerce, education, healthcare, travel and finance companies

2. % Commerce, education, healthcare, production and finance companies

3. # Commerce, education, manufacturing, travel and finance companies

4. # Science, education, healthcare, travel and finance companies

Question Id : 97675518466 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions :



No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

Every time we Google something, Facebook someone, Uber somewhere, or even just turn on a light, we create data that businesses collect and use
to make decisions about us. In many ways this has improved our lives, yet, we as individuals do not benefit from this wealth of data as much as we
could. Moreover, whether it is a bank evaluating our credit worthiness, an insurance company determining our risk level, or a potential employer
deciding whether we get a job, it is likely that this data will be used against us rather than for us.

In Data for the People, Andreas Weigend draws on his years as a consultant for commerce, education, healthcare, travel and finance companies to
outline how Big Data can work better for all of us. As of today, how much we benefit from Big Data depends on how closely the interests of big
companies align with our own. Too often, outdated standards of control and privacy force us into unfair contracts with data companies, but it
doesn’t have to be this way. Weigend makes a powerful argument that we need to take control of how our data is used to actually make it work for
us. Only then can we the people get back more from Big Data than we give it.

The success of data mining solutions tailored for e-commerce applications, as opposed to generic data mining systems, is an example. With more
and more information accessible in electronic forms and available on the Web, and with increasingly powerful data mining tools being developed
and put into use, there are increasing concerns that data mining may pose a threat to our privacy and data security. However, it is important to note
that most of the major data mining applications do not even touch personal data. Prominent examples include applications involving natural
resources, the prediction of floods and droughts, meteorology, astronomy, geography, geology, biology, and other scientific and engineering data.

Sub questions

Question Number : 76 Question Id : 97675518467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Data mining is used for :

Options :

1. ¥ To turn on the light

2. ¥ Making decisions about us

3. # Shaping diamond mines to give a better yield

4. ¥ To search the correct keyword on search engines on the internet

Question Number : 77 Question Id : 97675518468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How has data mining improved our lives ?



Options :

1. ¥ Data mined from the user is cheaply sold in the market.

2. % Data mining has barely had any impact on the society

3. ¥ Data mined from the user tells the internet about the needs and wants of the users and give appropriate search results.

4. ¥ Data mining requires more cookies which indeed makes the internet slower

Question Number : 78 Question Id : 97675518469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How can we utilise big data in a better fashion ?

Options :

1. ¥ We should be able to control how our data is used

2. ® Everybody should be taught in detail big data and data mining
3. # Insurance companies should not be allowed to used mined data

4. ® Job employer should have all the data about his employee

Question Number : 79 Question Id : 97675518470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why is data mining becoming a reason for concern ?

Options :

1. # updated standards of control and privacy contracts with data companies
2. ¥ data mining may pose a threat to our privacy and data security.

3. # major data mining applications do not even touch personal data

4. % we as individuals do not benefit from this wealth of data as much as we could

Question Number : 80 Question Id : 97675518471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Data for the People, Andreas Weigend draws on his years as a consultant for:
Options :

1. ¥ Commerce, education, healthcare, travel and finance companies

2. % Commerce, education, healthcare, production and finance companies



3. % Commerce, education, manufacturing, travel and finance companies

4. % Science, education, healthcare, travel and finance companies
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Question Number : 81 Question Id : 97675518472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufafRaauy 8, IR A & A, 39 [Ahed &1 997 B o S s, BT et [dbed 8




Options :

1. ¢ GIR-YIR
2. % Hifcy

3. % Tt

4. % dglg}

Question Number : 81 Question Id : 97675518472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad us ¥, IR faswedl § 9, 39 fddhed &1 90 B Sl ¢RIl Weg b1 gl fddbed 3|
Options :

1. ¢ GIR-JIR

2. % Aifcy

3. % Tt

4. % dolgl

Question Number : 82 Question Id : 97675518473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRofoRad uy &, IR ol & ¥, 39 fdh e o1 9u9 &L o fae=h eg &1 e by 31|
Options :

1. * Ydbl

2. WHIR

3. % 9lera

4. % 2t

Question Number : 82 Question Id : 97675518473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRofeRad uy & IR foer el & ¥, 39 fdh e &1 99 &L o fae=h 2eg &1 e fdbe 31|

Options :




1. % TPl
2. JHERT
3. % gleren
4. %

Question Number : 83 Question Id : 97675518474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy o, IR fawed! d 9, 39 [9oed &1 997 &% o WadTde I3 &1 e fadbed el g
Options :

1. # HIORdI

2. ¥ {Uq

3. % i@

4. % JU&f

Question Number : 83 Question Id : 97675518474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafied Uy &, IR fawed § 9, 39 fadhed &1 994 &1 ol HIgardd 931 &1 ol f[ddbed ol |
Options :

1. % HIRdl

2. ¥ JUq

3. % fied

4. % 30&f

Question Number : 84 Question Id : 97675518475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeRad us 5, IR fawedl § 9, 39 fddbed &1 a9 B3 Sl a1 & He &1 gl [dbed 71|
I R, I R |

Options :




1. % Sara®
2. ¢ =] IS
3. % IAH gy
4. % YT draID

Question Number : 84 Question Id : 97675518475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofafad uy & IR el & T, 39 ey &1 Tu9 3 o) 911 & He &1 I8! fameu gl
ST BRI, I W |

Options :

1. % (Aaras

2. ¢ JIJX® didh
3. % 30 Y

4. % 3T arID

Question Number : 85 Question Id : 97675518476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRad vy ¥, IR fawedl & 9, 39 fadhed &1 99+ o Sl 3T U 2eg & qafare ee &1 95! fdded 151 ¢

Options :

1. ¥ B3
2. ¢ IR

3. % YR
4. % HHME

Question Number : 85 Question Id : 97675518476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed Uy o, IR fawedl | 9, 39 [daed &1 997 &< ol faU 71U Meg & TAaTd! Xeg &1 Fet [ddbed e o
ugu




Options :
1. % BIGS
2. ¥ IR
3. % RRMNA
4. % HHMH

Question Number : 86 Question Id : 97675518477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufafla uy & IR Rl 7 9, 39 Awey &1 997 &L o) f3diH Ueg o7 Ja9 331 f[aheu gl

Bl
Options :

1. % fO@ar
2. % IRy
3. ¢ Ut
4. % IgRP

Question Number : 86 Question Id : 97675518477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy & IR el 1 9, 39 e o1 Tg9 3 o fadH Weg &1 T 331 [ B

BIEIR
Options :

1. % fUgar
2. % 1Y
3. ¢ Uiaid
4. % IgR®

Question Number : 87 Question Id : 97675518478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafiad vy &, TR sl # 9, 39 Ul fawed &1 9g9 &1 o RRad R & e Iuged Ueg &1 96! fadwe | |
YRAaTRAN &Y <fP 9 =T A

Options :

1. % 3fdad
2. % Ay
3. % G
4, ¢ Uh

Question Number : 87 Question Id : 97675518478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed vy &, TR fawel # 9, 39 Ue! fawed &1 9a4 &< o Rad I & e Iuged Ueg &1 9! fAdwe 7 |
YRR <f® I i<l A

Options :

1. % 3ddd
2. % Ay
3. % g
4. ¥ Uh

Question Number : 88 Question Id : 97675518479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafied Uy &, IR faswedl 8 9, 39 fadhed &1 999 o3 ol Y Ueg T gl [ddbed 5|
Options :

1. % diggfd

2. * fafenfa

3. ¢ fawgfd

4. % fafQydt

Question Number : 88 Question Id : 97675518479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad vy &, TR fawel # 9, 39 fawed &1 70 L S Y e BT Tl fadbea 7
Options :

1. % dregfd

2. % fafefa

3. ¢ fawgfa

4. % oy

Question Number : 89 Question Id : 97675518480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁyﬁ;@au&rﬁ,WWﬁﬁ,wﬁwwwaﬁaﬁmﬂnw%ma@aﬁwmwﬁmﬁw%

Options :

1. ¥ TWR
2. ¥ TER
3. % JWERI
4. % R

Question Number : 89 Question Id : 97675518480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%{%@Hwﬁ,aﬂﬁwlﬁﬁ,wf&qawmdw 3 ol faU 7T eg & foTT a9 Xsg &1 Ta 33T fawed g |

Options :

1. ¥ TWR
2. ¥ TR
3. % JW@RI
4. % qReR

Question Number : 90 Question Id : 97675518481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafafad vy 3, IR fawedl § 9, 39 fadhed &1 999 &1 ol SI8F § fAU T4 X8 & AR S99 I3W aradh Ja-TH HT 9ad 331 [ddwed g

Options :

1. v IR H (@URY) G 1T T |
2. % () PBPH g

3. % (J%) $S HIH DHA1 A6 |
4. % (3Y) $© Od Dol

Question Number : 90 Question Id : 97675518481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed uy o, oR ol & 9, 39 fawed &1 999 & Sl HIFH A AT T et & AR ITH YV dd Fa-H &1 9o 33T [dhed 7
Options :

1. ¢ 9IRS H (BURY) T T TS |

2. % (JHY) $B B

3. % (%) $S BHIH HA A6

4. % (39) $S Ad Hel|

Question Number : 91 Question Id : 97675518482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaled uy 4, IR fasedl T 9, 39 fdewed &1 9g- & Sl faU T8 d1e & &1 &1 Ta! fadhed |
A1 3 UerE 3 gt

Options :
1. % g 8qHe Hid=Id bId

2. % gdedde
{cfepTc ]
3. % YA IAHHDT

4. GG YdPbTd




Question Number : 91 Question Id : 97675518482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferRad Uy o, IR fadeul # 9, 34 fddb ey &1 7 &3 Wil U 7T a1 o 1l b1 gl f[dched Bl
T A UGTs i grf|

Options :
1. ® §q 8qHe Hidwq &1d

2. % ggedHa
AP

3. % gy IqHHDTd

4. ¥ GGy YdhTd

Question Number : 92 Question Id : 97675518483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afeRad Uy o, IR fadbedl # 9, 34 fadbed &1 9 D3 ol favH g o aTe’s &1 Hal [dehed Bl
Options :

1. % 3§ FT AGR IR Wl I¢ Y 98 9gd 8l g8l 8l 71T

2. % 3§ FT AGR TR A I YrIax 98 9gd ol g¥ &l 77T |

3. ¥ '3(F T AR IR g I8 AradH 98 9gd ol g8 &l 1]

4. % 39 T AP W AU, T8 DR, 98 9gd ol g gl 7|

Question Number : 92 Question Id : 97675518483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afaRad gy 9, aR fasedl T 9, 39 fdded &1 9g & ol [aR19 fag god a1 o1 Hal fddbed gl |
Options :

1. % 3§ FT ABR TR Wi I Yraax 98 9gd 8l g8 &l T

2. % 39 T ABX TR A I8 AR a8 9gd ol gl g1 7 |

3. ¢ 1379 T AR IR AIe- I8 TradhR 98 §gd ol gl 8l |

4. % 3§ T AGR W W, TS YrIa, I8 9gd ol g8t &l T4




Question Number : 93 Question Id : 97675518484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiaa uy & IR fawe § 9, 39 fawey &1 7g1 o2 o fou 7T Herak &1 gt 31 are fdhea g
3101 ] Hem BT -

Options :

1. ¢ @Y Ry AT

2. % §fGHM fdd

3.8 "

4. % GIIH 3T

Question Number : 93 Question Id : 97675518484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiaa uy & IR fawe # 9, 39 fawey &1 7g o2 ot fou 7T gerak &1 et 31 are fdheg 3|
ST I YT BT -

Options :

1. ¢ W@ g

2. % §fGHM fdd

3.8 "

4. % QI T

Question Number : 94 Question Id : 97675518485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefad vy §, IR fawedl § §, 39 fade &1 9g9 &< Sl 3T 71T gerak &1 Jet 31¢f ara fapeu 31
31T H TSI -

Options :

1. % §gd o

2. ¢ O d H Uel

3. % BT g

4, % IUTI Gl




Question Number : 94 Question Id : 97675518485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiiad Uy & IR fawedl § 9, 39 fadwed &1 984 &3 ol fou 7T Ggrar &1 wet 3 are fawed g
37T H TS -

Options :

1. % §gd fien

2. ¢ gfRed d ueHl

3. % BT g

4. % IUTF il

Question Number : 95 Question Id : 97675518486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy ¥, IR fawedl # 9, 39 [ddbed &1 99 B ot <l 718 dlspliad &1 gl o aren fdsbed g
3 DI IR H I I 1 it -

Options :

1. % TTarg! 9 o S

2. % YATg B dTd BT Hell BT

3. ™ DI §fGHTT B a1 G

4. ¥ 9UGR BT IERT

Question Number : 95 Question Id : 97675518486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofifad uy ¥, IR fawedl # 9, 39 [ddbed &1 99 B ot <l 718 dispifad o1 gl o arer fasbed g
3¢ DI IR H I I b1 it -

Options :

1. % T-TdT8! a¥ fire ST

2. % QTS B aTdd BT Hell BT

3. ¢ ™ DI §fGHTT B a1 G




4. ¥ 9UGR BT IBRT

Sub-Section Number : 2
Sub-Section Id : 9767551163
Question Shuffling Allowed : Yes

Question Id : 97675518487 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (96 to 100)

2 3T T I & 91 5 Uy AU TR § 1 59 TRIY 1 AHYde Ue SR IR fashedl H ¥ U U BT YaraH IR |

Sila # Sgd SIUPHR 3 3R SUBR B g1 Hifd SH 3R I 8] F© TN 3H SHYBR Pl WIHR P Ad § 3R a9 7 HaR Sl YbTI b
Tga- 3R UM &1 3fapier off, a8 Han: &fr gic ol o) H SIU®R &1 39 Wipfd Bl %1 Y9 81 U9 HEdl §| I8 AT $T WY 304
gfa T T SURTY B P gaRI & U fhT T SRl &1 o 39 Hd UMY ¥ &1 811 7] I8 ¥RV IR T St =fad o= & ufd 39 urg &t

Tl e g, 98 fordlt & +ft ufd Bis ury 78 R T 3| fhg T AN SR & TR T 591 & ol I9P SRABR & & S | ST

e StUdpR & Yy &1 81 Tad ST 99 ST g |

Sub questions

Question Number : 96 Question Id : 97675518488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T H '3RBR Vet by SR Hobd Bl 82
Options :

1. ¢ 1331 3R BT B 3R

2. % U0 & 3R

3. % JWRIYI BT 3R

4. % TS BT SR

Question Number : 97 Question Id : 97675518489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP 7 o Tad 921 U Bl 2
Options :

1. % T &1 370 Ufdl U1g 7 6=l
2. ¢ HBHR B WIHR B -l



3. % JYBR DI WIHR T HAT
4. % TRTRI U B &0 SMTehied

Question Number : 98 Question Id : 97675518490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 TR T IR I T 82

Options :

1. % SRIBR 3R YD BT & A1

2. % TRG-ARE b AN D fARIVATE T

3. % UMY 3R YT Pt RS BT

4. 3T 3R RIS B g HRA & forg YRd e

Question Number : 99 Question Id : 97675518491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST Teg H 3P TIT TS T §9 aTal 747 Weg H14-91 82
Options :

1. * Sfsp

2. % gfasd

3. ¥ Ufseh

4. % Ufssp

Question Number : 100 Question Id : 97675518492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
X 3G Bl Dig ITYad -
Options :

1. ® U9 3R qug

2. ¢ SffaH BT 3{YDR

3. % O & I

4. % 3YPR BT HgW




Question Id : 97675518487 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (96 to 100)

a f3U T WRpie & 91 5 U AU TR €1 59 TR 1 AFYde U SR IR fashedl H ¥ U U BT YaraH IR |

Sila # Sgd SIUDHR 8 3R SUBR B g1 Hifd SYH 3R I 8| F© N 3H SYBR Pl WIHR P Ad § 3R e I7b HaR Sl YobTI b
Tga- 3R UM &1 3fapie off, a8 Han: &fr gic ol o) H SIU®R &1 39 Wipfd B o1 Y9 IS1 U9 HEdl §| I8 AT $T WY 304
gfe foram T SRy B 3P GIRI & Ui frT 1T SraRTel o7 o 39 o UT9 ¥ B 8T 7] U8 RV IR b St aufda 3ruA € ufa g9 ura
g1 T g, 98 fordlt & +ft ufd BIs ury 8 R Tl 3| fohd $ AN 3fUPR & WHR T T4 & ol 3P SRAHR T T I1d g I
e SiUdR & Yy &1 81 Tad ST a9 ST g |

Sub questions

Question Number : 96 Question Id : 97675518488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR H 'SRIBR Xeg by SR Yabd Bl 52
Options :

1. ¢ R1EAT 3R STl B 3R

2. % U0 & 3R

3. % JWRIYI BT 3R

4. % TRI€ B 3R

Question Number : 97 Question Id : 97675518489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AP 7 frd I §ST UTY HET1 82
Options :

1. % T &1 370 Ufdl UT1g 7 6=l

2. ¥ IRHR DI WIHR B ]

3. % S{YBR DI WIHR 7 HRAT

4. % BT UM @ &ftor SMrapief

Question Number : 98 Question Id : 97675518490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

= TR 1 T 3530 31 /2

Options :

1. % 3RBR 3R YHT BT &I Al

2. % UG-G & ANl 1 [ARITATE AT

3. % 79 3R YUY S IR HRAT

4. 3T 3R RIS BT g B o g URT T

Question Number : 99 Question Id : 97675518491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THT Teg | TF' Y Se- I S JTelT =17 JTeg HH-T 672
Options :

1. % Sfwsp

2. % gfasd

3. ¥ Ufwseh

4. % Ufesh

Question Number : 100 Question Id : 97675518492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y SfJwsa DI Bbls I Xeh-
Options :

1. % U9 3R qug

2. ¢ SffaH BT 3YBR

3. % TS & 9O

4. % 3JYDR PHT AW
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Question Number : 101 Question Id : 97675518493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A reinforced concrete beam is subjected to the following bending moments:

Moment due to Dead load = 60 kNm: Moment due to live load = 90 kNm: Moment due to Seismic load = 30 kINm. The
design bending moment for limit state of collapse is:
Options :

1% 135 KkNm



> % 180 kNm
3 % 216 kKNm

4.« 225 KNm

Question Number : 101 Question Id : 97675518493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U UEId dheb I YRAMGIRET S AT0l & 14 &

A HR & SR = 60 KNm; T HR & BRUT 30 = 90 kNm; YHUF HR & SR TG0 = 30 kNm 5|
UaH ] T AT o 1078 3] S g0 1 B |
Options :

1. #% 135KNm
> % 180 kNm
3 % 216 kNm

4 225 kNm

Question Number : 102 Question Id : 97675518494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For 2 way continuous slabs having shorter span (less than 3.5 m), with high strength deformed bars of Fe415 grade,
span to overall depth ratio of slab, to satisfy the vertical deflection limits for loading class upto 3 KN/m?, is :
Options :

1.¢ 32



3 % 40

Question Number : 102 Question Id : 97675518494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fed1s US & 3o UHY GBI R & WY, B WA (3.5 m U $H) TRIfG-ARN Tdd wWad g, i &1 W Bl
THY TERTS 9 3FUM, 3 k/m? T HIRGAT g daad faagur U & Uqp &4 & g i g

Options :
1.« 32

) #® 35

Question Number : 103 Question Id : 97675518495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to IS 456, under limit state of collapse condition, for assessing the strength of a structure, the values of
partial safety factors for steel and concrete are respectively:

Options :
1. % l.5and1.15

7 ¢ 1.15and L.5



3 % l.15and 1.65

4 % 0.87and 1.2

Question Number : 103 Question Id : 97675518495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS 456 P SIHR, U (bl T ATRT T8 L,ﬂh G B YHE BT e B & (010 SHITAR dHshic &
foTu o1 YR&m HR&I & Hed HHTL:

Options :

53R 1.15

5 v L153R LS
s % 115 3R 165

4 % 0.87 3R 1.2

Question Number : 104 Question Id : 97675518496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The maximum spacing of shear reinforcement (as vertical stirrups) measured along the axis of a reinforced concrete
beam of width 300 mm and effective depth 500 mm, with a span 6 m is:
Options :

1. % 375mm

7 % 337.5mm



3« 300 mm

4 % 200 mm

Question Number : 104 Question Id : 97675518496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 m T 91el, 300 mm G 3R 500 mm WHIE! TER USTTd deblc ¢RI el & Iy A1Y Y HURSYUT Feeid
(SR DT & U H) B AlhaH e () El

Options :

1. % 375 mm

Ln

> % 337.5mm

3« 300 mm

4 % 200 mm

Question Number : 105 Question Id : 97675518497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per Newton’s Law of Viscosity the shear stress acting between two layers of fluid is:
Options :

| % Directly proportional to the distance between them.

,  Inversely proportional to the distance between them.

5 % Directly proportional to the square of the distance between them.



4 % Inversely proportional to the square of the distance between them

Question Number : 105 Question Id : 97675518497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & Wl & 98 & S8R 0Ra & &l Wikl & &l B 6 ardl el Jidad gl
Options :

| % 3 a9 B gl & AFHHIR

, » 3% &9 Bl g8l & FepHTuN

y % S a9 B Gl & T & SIHATIIRN
4 % S A9 B G & T & FSHAIIN

Question Number : 106 Question Id : 97675518498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vortex flow of irrotational motion, without any external torque the rate of change of angular momentum must be
Options :

1.« Zero

> # One

3 #% Two



4 % Three

Question Number : 106 Question Id : 97675518498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=1 fait STeT Samgui o, Srgulf 1fd & YT YaTg o e, HIvig a7 o GiRad & e ol g+ d1igu?

Options :

L T

2. % 8P

3% @l
4 % T

Question Number : 107 Question Id : 97675518499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A closed cylindrical tank of height 2 m is partly filled with oil of relative densitv 0.8 to a depth of 1m, is subjected to an
air pressure of 20kN/m?above the oil. Determine the total pressure (in KN/m?units) at the bottom of the tank. Take unit
weight of water as 10000 N/m?
Options :

1. % 20

7 # 12

3 % 208



Question Number : 107 Question Id : 97675518499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 m $HIG Bl U 8§ STTHR P HAH T 0.8 UG TG T T Y 1m P! TE5 db W 6. T8 dd &
SR 20kN/m? & 91 & & 4 81 Ih & 90 W T ald (kKN/m? $DIg H) I DL | el 3dhls HR 10000

N/m? |
Options :
1. # 20

7 % 12

4. 28

Question Number : 108 Question Id : 97675518500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Water flows with a flow rate of 0.5 cumecs through a pipe AB of length 12 m length having a uniform cross-section.
The end B of the pipe is above the end A and the pipe makes an angle of 30 to the horizontal. For a pressure of 20
KN/m? at the end B, the corresponding pressure at the end A (in kN/m? units) is: (Take unit weight of water as 10
KN/m?®)

Options :

1% 40

7 #® 32



3.¢ 80

4 % 120

Question Number : 108 Question Id : 97675518500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el Ueh G 3FYRY SHIE el 12 m Tel USY AB P A T 0.5 cumec B UG8 & P 1Y UdIed 8idl g1 UIsy
&I R B, RRIA ¥ W © 3R 959 &9 9 30° &1 S0 4911 81 RRIB W 20 kvm? & 31 & e, Rila
(KN/m? SehTs H) IR TITd &9 J1d H1 | (Sidid] 515 HR 10 kN/m® & Y H 1)

Options :

1. w40

2 32

3.¢ 80

4 % 120

Question Number : 109 Question Id : 97675518501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A body submerged in liquid is in equilibrium when:
Options :

| v lts centre of buovancy is above the centre gravity

, % Its meta centre is above the centre of buoyancy



5 w Its centre of gravity is above the centre of buoyancy

4 % 1Its meta centre is above the centre of gravity

Question Number : 109 Question Id : 97675518501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o # g s grerr E e g oe |

Options :
| v TP IEEHA Hg, TeAHNU B T HW Bl 8

, % 59D AW g, ICIhd H% I HUW Bl &

s % 29D TREIHYUI b, IEATDhdl g U HW Blal ¢

4 % 39T @A bg, TEAIHYY % H SR gl g

Question Number : 110 Question Id : 97675518502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The effective length of a steel compression member of length [, restrained against translation and rotation at one end,
while the other end is restrained against translation and not restrained against rotation is:

Options :
1% 0.65]

2« 0.81



Question Number : 110 Question Id : 97675518502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

l & B UG Tals, off U RN FERIGeR & TUHSE g, didh
S R e S T S e B e e

Options :
1. % 0.65]

7« 081

Question Number : 111 Question Id : 97675518503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a double riveted double covered butt joint, the strength of the joint per pitch length in shearing the rivets P4 and

strength of one rivet in single shear P_ are related as:
Options :
| % Pa=2F

, % Pa=3F



Question Number : 111 Question Id : 97675518503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WW% g TR WIS (S80 RACS S8 dhar a¢ Bige) H, ueuu Rdey H ufd fud ddrg & wils @l
Py 3R S O G T 8 e % e g gdy 2

Options :

1. % Pg=2PF,
2. % Pyj=3P;
3 Py=4P,

. x B4=25P,

Question Number : 112 Question Id : 97675518504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A steel rod of 20 mm diameter is used as a tie member in the roof bracing system and may be subjected to possible
reversal of stress due to wind load. What is the maximum permissible length of the member?

Options :
1.« 1750 mm

> % 2000 mm



3 % 2250 mm

4 % 3000 mm

Question Number : 112 Question Id : 97675518504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¥ S RRea H 20 nunmmﬁﬁaiﬁﬂ RIS ] JUTIT §41 3T0T (€T Har) & U H [ba1 §idl 3, 2R g1
& YR & HRUT e b Y0 SeHHU & A 81 Gdhdl ¢ | Haad (HeR) i HSHaH 30T 1als [dhale?

Options :
1« 1750 mm

> % 2000 mm
3 % 2250 mm

4 % 3000 mm

Question Number : 113 Question Id : 97675518505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Web crippling in I section steel beams occurs at the points where:
Options :

1 % Shear force is maximum

, % Bending moment is maxinmm

3 « Concentrated loads act



4. % Deflection is maximum

Question Number : 113 Question Id : 97675518505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 Y9 ST &R 99 [ohWieHT (Web crippling) 3+ f6ig 31l TR gl & Oigl
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Question Number : 114 Question Id : 97675518506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A steel built up column is subjected to an axial force of 2000 kN. The lacing system has to be designed for resisting a
transverse shear of:
Options :

1. % 40 kN

5> % 20KkN

3 ¢ SOKN



4 % SOKN

Question Number : 114 Question Id : 97675518506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{3 Wy (& 1a faee 2g BTaH) 2000 kN & 20EiT g0 & 27l 2 P TR T B
%%Wﬁ%ﬁwaﬁ%&m%ﬂ%|

Options :
1 % 40kN

» % 20KkN
3 ¢ SOKN

4 % S0KN

Question Number : 115 Question Id : 97675518507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In plate girders intermediate vertical stiffeners are provided to safeguard:
Options :

% Increase self-weight of plate girder

1
, % Iransfer concentrated loads on girder to the web

3 % Web against Bending bucking stress

4  Web against Shear buckling stress



Question Number : 115 Question Id : 97675518507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 116 Question Id : 97675518508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the air pollutant which is not produced from automobile exhaust.
Options :

| % Oxides of nitrogen

»  Hpydrogen Sulphide

3 % Lead

4 % Particulate dust



Question Number : 116 Question Id : 97675518508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 117 Question Id : 97675518509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the one which does not belong to the category of Secondary air pollutant?
Options :

1. % Ozone

, % PAN (Peroxy Acetyl Nitrate)

3 Oxides of Nitrogen

4 % Photochemical Smog



Question Number : 117 Question Id : 97675518509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1% S
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Question Number : 118 Question Id : 97675518510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The characteristics of air pollution control mechanism is given below.
L. Uses electrical forces to move the particles out of the flowing gas stream onto collector plates.
2. The particles are removed from the plate by rapping and collected in a hopper below the unit.
Identify the control mechanism.

Options :
1 # Venturi scrubbers

, % Settling chambers

3  Electrostatic Precipitators



4 % Cyclones

Question Number : 118 Question Id : 97675518510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4 » TPAId (ATSE)

Question Number : 119 Question Id : 97675518511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In dealing with the problem of air pollution, gravitational settling chambers are generally used to remove large, abrasive
particles from :

Options :
1. % Stack & Ambient Air

> % Stack



3 % Ambient Air

4.« Gas Streams

Question Number : 119 Question Id : 97675518511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 120 Question Id : 97675518512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The recommended values of compressive strength (CS) and water absorption (WA ) for heavy duty bumnt clay bricks of
class 400 as per IS 2180 are respectively:

Options :
1 % C5=35t040 N.-"mmz; WA= 15 %



5 » CS=401045N/mm?: WA= 10 %
; % CS=45to 50 N/mm?; WA <20 %

4 % CS=30to 40 N.-"mm— WA= 12 %

Question Number : 120 Question Id : 97675518512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS *13&%Wﬁ4ﬂ%ﬁ%ﬁ§ﬁ awl (@<) Jalscl & e GUISd armd (cs) 3R o TR0 (WA) & AR
HIH & HI:

Options :

| % CS=35Y40 N/mm% WA < 15 %

, » CS =40 ¥ 45 N/mm?% WA < 10 %
5 % CS=45Y 50 N/mm? WA <20 %

4 % CS=30 W40 N/mm?% WA <12 %
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Question Number : 121 Question Id : 97675518513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the propertv for which Crystallisation Test is conducted on freshly quarried stones.
Options :

R Durability

» % Frost resistance
3 % Weather resistance

4 % Toughness



Question Number : 121 Question Id : 97675518513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 122 Question Id : 97675518514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dry rot is decomposition of felled timber caused by the action of:
Options :

1 % Termites attack

> % Beetles attack

5  Fungiattack

4 % Bacterial attack



Question Number : 122 Question Id : 97675518514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 123 Question Id : 97675518515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Among the following construction materials, identify the one having maximum density?
Options :

1. % Wood

> % @ranite stone

3 % Cement

4.« Steel



Question Number : 123 Question Id : 97675518515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 124 Question Id : 97675518516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In civil engineering project planning, a Dummy activity is a type of operation in the network which requires:
Options :

1 % Both Time and resources

7 « No Time and Resources

; % Resources only

4 % Timeonly

Question Number : 124 Question Id : 97675518516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 125 Question Id : 97675518517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A father notes that when his teenage daughter uses the telephone, she takes not less than 6 minutes for a call and some
times as much as | hour. Calls of duration 15 minutes are most frequent than calls of any other duration. If the daughters
call were an activity in a PERT project. estimate the call’s expected duration?

Options :
1.+ 21 minute
> % 15 minute

3 % 13.5 minute

4 % 16 minute

Question Number : 125 Question Id : 97675518517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 126 Question Id : 97675518518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In project management, Critical path is identified as the one which connects the events having:
Options :

| % Smallest path

> % Positive Slack time

3 % Negative slack time

4 « Zero slack time

Question Number : 126 Question Id : 97675518518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 127 Question Id : 97675518519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Soils carried by water and have been deposited from suspension in still water of lakes are known as:
Options :

| % Alluvial deposits

» « Lacustrine deposits
« Aeolian deposits

3.

4 % Loess deposits

Question Number : 127 Question Id : 97675518519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 128 Question Id : 97675518520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A partly saturated sample from a borrow pit has a natural moisture content of 20 % and bulk unit weight of 24KN/m°.
Estimate the unit weight of dry soil sample (in KN/m? units)

Options :
1% 24

2.¢ 20

Question Number : 128 Question Id : 97675518520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 24

7« 20
3 % 15

4 % 18

Question Number : 129 Question Id : 97675518521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Two statements S1, S2 pertaining to clay soils are given.

S1 : The in situ moisture content for a sensitive clay may be greater than the liquid limit, and the liquidity index is
greater than one.

S2 : In many naturally deposited clay soils. the unconfined compressive strength for undisturbed clay is less than the
remolded clay. at the same moisture content.

Choose the correct answer.
Options :

1 % Both S1 and S2 are True
» % Both S1 and S2 are False

3 « SlisTrue, and S2 is False



4 % Sl is False and S2 is True.

Question Number : 129 Question Id : 97675518521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 130 Question Id : 97675518522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The water content of a fully saturated soil mass is 100 %. The inference about the void ratio of soil sample is:



Options :
| % Greater than the specific gravity of soil

, % Equal to the unit weight of soil
3« Equal to the specific gravity of soil

4 % Independent of the specific gravity of soil

Question Number : 130 Question Id : 97675518522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 131 Question Id : 97675518523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Two statements S1, S2, associated with the properties of soil are given:
SI : As the compaction effort is increased, the maximum dry nit weight of the compaction is also increased.

S2 : The co-efficient of consolidation generally increases as the liquid limit of soil increases.

Choose the correct answer.
Options :
1. % Both S1 and S2 are True.

> « SlisTrue, S2 is False
3 % Sl is False, S2 is True

4 % Both S1 and S2 are False.

Question Number : 131 Question Id : 97675518523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 132 Question Id : 97675518524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Among the properties of soil, identify the one which is not appropriate for determination from disturbed soil samples:
Options :

| % Specific Gravity

> % Grain size distribution

5 w Plasticity characteristics

4 Shear strength

Question Number : 132 Question Id : 97675518524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 133 Question Id : 97675518525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arigid isolated footing is resting on Clay. The contact pressure at the edges and centre of the footing are respectively:
Options :

1 % Maximum and zero

> % Minimum and maximm
3« Maximum and minimum

4 % Zero and maximum

Question Number : 133 Question Id : 97675518525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 134 Question Id : 97675518526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an incorrect assumption of Coulomb’s Wedge Theory of Earth pressure?
Options :

| % The back-fill soil is dry, cohesion less. homogeneous, isotropic and ideally plastic material.

The resultant earth pressure on the wall is inclined at an angle (90" +¢) to the normal to the wall. where o is the angle of

) friction between the wall and backfill.

The sliding wedge itself acts as a rigid body and the value of earth pressure is obtained by considering the limiting
3 % equilibrium of the sliding wedge as a whole.

4 % Theslip surface is a plane surface which passes through the heal of the wall.

Question Number : 134 Question Id : 97675518526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 135 Question Id : 97675518527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Determine the shear strength of soil (in KN/m?units) in terms of effective stress on a plane within a saturated soil mass
at a point where the total stress is 220 KN/m? and the pore water pressure is 120 KN/m?. The effective stress shear
strength parameters for the soil are: cohesion = 16 kN/m? and angle of internal friction = 30 . (take sin30 = 0.5, tan 30
=10.6; cos 30 =0.9)

Options :
1. % 136

2.\;_,4-’ T6
3.$ (615}

4 % 106

Question Number : 135 Question Id : 97675518527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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UET0T A U & U0 = 16 kN/m? 2R 211 G0 HI0T =30 | (sin30 =0.5. tan 30 = 0.6: cos 30 = 0.9 )

Options :
1. % 136

2.¢ 76
3. # (1)

4 % 106

Question Number : 136 Question Id : 97675518528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the three typical cases Cl, C2. C3 choose the combination, where one can expect occurrence of negative skin
friction, on piles:

C1 : An upward drag exists in the pile

C2 : Develop if the filled material around pile is a loose sand deposit.

C3 : Lowering of ground water table resulting in consolidation of soil

Options :
| % ClLC2 and C3
, % Clonly

3 % ClandC3 only

4 v C2and C3 only



Question Number : 136 Question Id : 97675518528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 137 Question Id : 97675518529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to IS4954:1968, the usual noise level of the industries is in the order of:
Options :

1.« 60 to 95 decibels

> % 105 to 130 decibels

3 % 130to 165 decibels



4 % 17010 210 decibels

Question Number : 137 Question Id : 97675518529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 138 Question Id : 97675518530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the resultant decibel level when there are 4 sources making noise of equal levels?
Options :

| % Decibel level will increase by 4 decibels

> % Decibel levels will remain the same

5 Decibel level will increase by 6 decibels



4 % Decibel level will increase by 8 decibels

Question Number : 138 Question Id : 97675518530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 139 Question Id : 97675518531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For a trapezoidal channel of specified side slope, the most economical cross-section for conveying the maximum discharge through the channel
section is given by the condition:

Options :

1. # Hydraulic radius must be equal to the depth of Flow

2. ¥ Hydraulic radius must be equal to half the depth of Flow

3. # Top width must be equal to one of the sloping side of channel

4. % Twice the Top width must be equal to one of the sloping side of channel

Question Number : 139 Question Id : 97675518531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 140 Question Id : 97675518532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The addition of 50 decibel noise with another 50 decibel noise is equivalent to a noise of:
Options :

1. % 100 decibel

2. % 83 decibel

3. # 73 decibel

4. ¥ 53 decibel

Question Number : 140 Question Id : 97675518532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

50 SS9 BT I Ueh 3 50 SIS ¥G & Y el 9 o FH 39 W BT

Options :

1. % 100 SRER
) #% 83 SIRER
3 0% 73 % %1@0
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Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline3
Section Id : 9767551007
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Number of Questions to be attempted : 20
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Question Number : 141 Question Id : 97675518533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A triangular Direct hydrograph due to a 6 hour storm in a catchment has a time base of 100 hour and a peak flow 40

m?/s. The catchment area is 360 km?. The 6-hour unit hydrograph of this catchment will have a peak flow (m°/s) of:
Options :
1. % 10

2.¢ 20
3. % 30

4 % 06.67

Question Number : 141 Question Id : 97675518533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foh ! SieiU8(catchment) H 6 9¢ & bl & HRU Udh el ueges Siarera (hydrograph) 100 9 BT THIUR
(time base) % 3?!?@ fOReR yare (peak flow) 40 m?/s %‘I G & (catchment area) 360 km? %I ELs

SICTS (catchment) & 6 9¢ & Sd’ii‘ir S (hydrograph) T fARaR TaTE ( peak flow) (m°/s) e
Options :

1. % 1O

2.¢ 20
3.33 30

4 % 6.67

Question Number : 142 Question Id : 97675518534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The Hydrologic flood routing methods employ the equations of:
Options :
| % Energy Equation only

» % Equation of motion only
3 Equation of Continuity only

4 % Both momentum and continuity equations

Question Number : 142 Question Id : 97675518534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H—Gl?ﬂq §1¢ AF A (hydrologic flood routing) fafeal gfaRad o 9 i THiHur &1 Hgiv Sl 82

Options :

| % had Holl GHIHI
5 % DI BT HHH]

3 Haq Graddl Uil

4« H9T IR GG GHIHR G

Question Number : 143 Question Id : 97675518535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The equipment used for the measurement of Evapotranspiration for a given vegetation type in the fields is:



Options :
| % Pan-evaporimeter

» « Lysimeter

;3 % Colorado sunken Evaporation pan

4 % Double ring Infiltrometer

Question Number : 143 Question Id : 97675518535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wl # fardl U 71U g1=ufd bR & [T ara Soi- o |19 gd Wgad SUHRUl il 67

Options :
| % QT-arsg=Tamd! (Pan-evaporimeter)

g Ei‘{ﬁ Hiex ( Lysimeter)

2.9

3 % Pl s! FHY a9 U (Colorado sunken Evaporation pan)

4 % & gedl 2id-=eaAMl (Double ring Infiltrometer)

Question Number : 144 Question Id : 97675518536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The graphical plot of the intensity of rainfall against the time interval for a basin is known as:



Options :
| % Unit Hvdrograph

, % Hydrograph
3 % Mass curve of rainfall

4  Hyetograph

Question Number : 144 Question Id : 97675518536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁ =AIL]] (basin) & foTT 9oy SR & faudld auil &l digdl & Y1) 3o (graphical plot | & el STl

Options :
| % SIS OIAICRI ((Unit Hydrograph)

) % S (Hydrograph)
3 % Y| T ST geh (Mass curve of rainfall)

) aﬂ:UTa'l_cc(Hyemgraph]
4. ¢

Question Number : 145 Question Id : 97675518537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Three pipes having diameter dy, d> and d5 (d;> d»> d3) are connected in series. Identify the correct option pertaining to
the flow through the pipes.

Options :

| % Head loss in each pipe is the same

, % Total discharge is the sum of the discharge in the individual pipes
3 % Revynolds number of flow for each pipe is the same.

4 Discharge through each pipe is the same.

Question Number : 145 Question Id : 97675518537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dy, dy IR d; (dy> dy> d3) G AT oI 9139 90T o8 H oo gU ¢ | UISY o U1 g aTcl HaTe ¥ Hefed 9gl
fded P UgdH Y|
Options :

1% wmﬁﬁwgﬁ{head loss) GHF €|

, x FY [REGE (Discharge). Tds Urgy H giH ara fdge (Discharge) &Il g gl

s T TS & g aTg &1 ¥Tesd e HE ¢

4 » VS UTEY & AT ¥ g (Discharge) THM &

Question Number : 146 Question Id : 97675518538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In defining Froude number applicable to channels of any shape. the length parameter used is:
Options :
L% Depth of flow

, % Hydraulic radius
3  Ratio of wetted area to top width

4 % Wetted perimeter

Question Number : 146 Question Id : 97675518538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

farit Y SfTPR 95 WUTTRT (channels) UR SI0geR] WBI3S WAl & GRHING $H- H, Wi delg Wrdd ol 62

Options :
|« TOI8 BIERR

, » 24 Tierd 38T (Hydraulic radius)
s o IS & T < disTs § Srgurd

4 % OIC g gAY (Wetted perimeter)

Question Number : 147 Question Id : 97675518539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A streamlined body is one for which:
Options :
1 % The skin friction is zero

> % The skin friction is minimum

; % The thickness of the body is minimum

4  The separation point occurs on the far downstream part of the body

Question Number : 147 Question Id : 97675518539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uh YRR fUig (streamlined body) dg % ISRE f%rq:
Options :

1. % IR TyoT (skin friction) ][ @Tﬂ %I

2. % JUNTR o7 (skin friction) <AdH m %’I

3. % fis P AR a8l o

4.« QY& fog s & gR & 31¢: UaTe YT R BT 8 |

Question Number : 148 Question Id : 97675518540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is not the characteristics of the critical state of flow through an open channel?
Options :

| % Froude number is equal to Unity



, % The specific energy is minimum for a given discharge.
3 % The specific force is minimum for a given discharge.

4  The discharge is minimum for a given specific Energy

Question Number : 148 Question Id : 97675518540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁHﬁ@ﬁﬁﬁ@?—WﬁWﬁ@ﬁW{wmchﬂ:mﬂ}%Wﬁmﬁﬁﬁﬁ@lﬁaﬁwqﬁg?

Options :

1. % 13T YT Uhdh & SRR il g

2. * fopdft faw 7 fdg o forg fafkie Soif g gl g |
3. % fqu e fAdeq & fore fafRy sa gAqw g 3|

4. ¢ Q173 fafiy Suif & fere fAdea =maa ST 3|

Question Number : 149 Question Id : 97675518541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In hydraulic modelling of flow pattern around a body submerged in a fluid the non-dimensional number which has to be
kept the same in the model and prototype is:

Options :
1 % Weber number

> % Froude number

3 Revnold’s number

4. % Strouhal number



Question Number : 149 Question Id : 97675518541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W § Fafsa s & gitd: yare %ﬂﬂ'ﬂ:ﬂﬂ gfaar (hydrolic modelling) H, IR-mgHr e o
TG 3R Wi id (prototype) ﬁHHH 3G S

Options :
L% GERRSEC] (Weber number)

5 % Ip13E ¥l (Froude number)

3.¢ IS AT (Reynold’s number)

EAUG o T (Strouhal number)

Question Number : 150 Question Id : 97675518542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify a Rabi Crop cultivated in India.
Options :

1. % Rice

> % Jowar
3 % Groundnut

4 Barley



Question Number : 150 Question Id : 97675518542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA H 35 G ardil &) &I B (Rabi Crop) &1 GgdH B |

Options :
1. % dIde

5 % wdiY
3. % uﬂ‘
4o O

Question Number : 151 Question Id : 97675518543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the moisture content in a soil is at the field capacity of soil, the ratio of Actual Evapotranspiration (AET) to the
Potential Evapotranspiration (PET) is:

Options :
1. % Lessthan |

> % More than 1

3 % Equalto0.5

4 v Equaltol



Question Number : 151 Question Id : 97675518543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe fag # 71 &1 A fAg] &1 & & IR 8, 1l IRddeh aTge SO (AET) 1 SHIfdd a1 Io&uie (PET) ¥
3O o BT

Options :
L% 1Y

) ® 1@(31%
s % 0.5 P G

4 v | HETR

Question Number : 152 Question Id : 97675518544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An irrigation canal that is aligned nearly parallel to the contours of the area, can irrigate area only on one side of canal,
and generally constructed as a single bank canal is known as:

Options :

| % Ridge Canal

, % Side slope canal

3 « Contour Canal

4 % Detour canal



Question Number : 152 Question Id : 97675518544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g3 o7 &3 & THIE & TTHT iﬁa‘mw . A deY & Uh B & &7 I [
m%%ﬁ?&mﬁ?mwaﬁ%%ﬁHﬁ{ Hi ol g, fhg ﬁ GIE%%' Rt

Options :
| % dcdh Y (Ridge Canal)

) % g1 UqUIdl eR (Side slope canal)

3. ¢ = -g¥ (Contour Canal)

4 % tahdgld -gx (Detour canal)

Question Number : 153 Question Id : 97675518545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is not suitable for setting out right angles to another line
Options :

| % Open Cross staff

> % Sextant
3 % Prism square

4  Telescopic Alidade



Question Number : 153 Question Id : 97675518545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad 3 g oa7 gOi) a1 IR S0 R S & AU I9ged el 8

Options :

| % qell gﬁm (Open Cross staff)

, % UBP (Sextant)

3 % fﬂﬁ?ﬂﬁm(f’rism square)

4 v GXGXIT GRRGP (Telescopic Alidade)

Question Number : 154 Question Id : 97675518546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Agonic line is the line made up of points having:
Options :

w Negative declination

1
> % Positive declination

3 « Zero declination

4 % Same declination



Question Number : 154 Question Id : 97675518546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 g ¥ g8 ¥ el ¢ o fig U A a9d g1

Options :

| % BUTHS fdaurd

Question Number : 155 Question Id : 97675518547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Contour lines of different elevations can unite to form one line in case of:

Options :

1.« Vertical cliff

o % Ahill

3 % Acave

4 % Anoverhanging cliff

Question Number : 155 Question Id : 97675518547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

it Sereat o were Yt 31 R 3 oo Y 3 Finfor R g o ved 2|

Options :

| v SHEER TSI TEH

2w RIS
3. % I
4 x QIS TSl FEH

Question Number : 156 Question Id : 97675518548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Among the sources of errors in theodolite survey listed, one of them is not considered as a natural error. Identify it:
Options :

1. ¢ Inaccurate CEHTE‘I’iIlg

, % Unequal atmospheric refraction due to high temperature

;3 % Unequal settlement of tripod

4 % Wwind producing vibrations

Question Number : 156 Question Id : 97675518548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T & arall & Fid A : Y {4l U o] @HIfds j
%ﬁﬁwﬁ%@wmﬁ%@?ﬁﬁ Ffeat e gl g U &I TaTHTfae 3fe et amT o

Options :

| o TS
, s ST ATOHF & HROT HH IGHSHT RIG

s (OIS (CTRUTS) BT SFHI TR

, % BATGRISH dIel $U

Question Number : 157 Question Id : 97675518549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the Plane Table Surveying, Bessel’s Graphical method is adopted for the solution of:
Options :

w Traversing problem

1
, % IWwo-point problem

3 Three-point problem

4 % Graphic triangulation

Question Number : 157 Question Id : 97675518549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

%%:Hcsmtéﬁri ¢ad) A& & g & T S g9 & [0 99T i 27erdt Al &1 3uan fear wran
!
Options :

|« THHUIHE

2. ® iﬁﬁgw

s o -G T

4. % NI EEANE]

Question Number : 158 Question Id : 97675518550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A line of levels has been run from a bench mark of elevation +35.32 m and ends at another bench mark of elevation
+35.35 m. The sum of back sights is 16.55 m and the sum of foresights is 16.58 m respectively. The closing error in the
survey work is:

Options :
1 % 0.03m
> % -003m

3 & 0.06 m

4 % -006m

Question Number : 158 Question Id : 97675518550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

wwaﬁ @ +35.32 m s P U ﬁa_fﬂ 0| AR +3535m G G|l IR EES
E?%g?g?;ﬁ&T%ﬁ%ﬁglIﬂﬁi%?%&dTgﬁz%?l16ﬁgzn1GﬁiiigﬁéggiggiglgﬁTiﬁjifjlélégggé;aﬂﬂE§EFQFﬁﬁ§ﬁ?

Options :
1. % 0.03m

7 % -0.03m

3 ¢ 0.06m

4 % -0.06m

Question Number : 159 Question Id : 97675518551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year ‘Motor Vehicle Act’ was adopted in India
Options :

1. % 1947

, % 1938

3 v 1939

4 % 1940

Question Number : 159 Question Id : 97675518551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HRA H “HICR die AT &9 9§ AR g3
Options :
| % 1947

5 % 1938
3« 1939

4 % 1940

Question Number : 160 Question Id : 97675518552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

While designing of summit curve on highways the important factor to be considered is:
Options :

| % Superelevation

»  Sight distance

5 % Impact factor

4 % Comfort to passengers

Question Number : 160 Question Id : 97675518552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ISTHFT TR 3T 9 S-Td THT 4 G- 916! 219 91d 9] o2
Options :
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Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 9767551167
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 97675518553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under which part of the Planning Survey of Highways, “Road Life Studies™ is included.
Options :

1. % Economic Studies

» % Financial Studies
3 % Traffic use Studies
4 v Engineering Studies

Question Number : 161 Question Id : 97675518553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JTART & aefu] g fod HIT & 2Add TS vilgd g M g2

Options :

| % SRR g

, % (OO I

. TTaHETd (<fthds) SUART ST

3.



4. v STHARDT Szge

Question Number : 162 Question Id : 97675518554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the factor which is not taken into account for computing the breaking distance in highways.
Options :

L% Speed of Vehicle

, % Co-efficient of longitudinal friction
3+« Reaction time of Driver

4. % Gradient

Question Number : 162 Question Id : 97675518554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 1 9 39 SRS Bl TS D o IS UR SRIEH (ST 30 &1 T0M1 & fo8 e & 78l 361 Sirell 8|

Options :

S IEARIIN
, w3 TY T Ul

3. I &l Uidfdhar gy

4 % GIU



Question Number : 163 Question Id : 97675518555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The maxinmmum super elevation to be provided on a road curve is 1 in 10. If the rate of change of super elevation is
specified as 1 in 100 and the road width is 10 m, the minimum length of transition to be provided on either end of
circular curve is:

Options :

1. % 125 m

7 « 100 m
3 % 30m

4. % 75m

Question Number : 163 Question Id : 97675518555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 1Sl H Ued Y H | 81 fe STelie & uikad Bt H1$HE0H 3R
B e L
Options :

1. % 125m

7 « 100 m
3 % 50m

4. % 75m



Question Number : 164 Question Id : 97675518556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not the purpose of “Origin & Destination Studies™ in Traffic Engineering?
Options :

;% To judge the adequacy of existing routes and to plan new network of roads.

, % To establish preferential routes for various categories of vehicle including bypass.
3 ¢ 10 study the causes of accidents and to suggest corrective treatment at potential locations.

4 % Tolocate terminals and to plan terminal facilities.

Question Number : 164 Question Id : 97675518556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gIargTd HFiEST § 9 1 U S 91 [9eed e U4 Tided g &1 3539 el 82
Options :

o HISGT AR &1 Gl 1 Gedih HRl 3R USh! &b T 4cdds o] gioi] g+

o« STLUTY ied fafHe 9fort & aresl & for Sifemr=g AF | o= T |

s » GHCTIN & BRI BT T BT R YA I R GYRIAS IUGR B G Tl

, s IO T T ST SR e Gfaursdl &F AT S



Question Number : 165 Question Id : 97675518557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the traffic signs which donot come under the categorv of a Regulatory Sign.
Options :

| % Prohibitory signs

, % Stop and give-way signs
3 % No Parking & No Stopping Signs

4 Warning signs

Question Number : 165 Question Id : 97675518557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 graaTd Rl B U &L ol e g 1 90 5 781 i g

Options :

| x FOYES R

, x D ARIENS G
s s IO 3R AL g
4 e g



Question Number : 166 Question Id : 97675518558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of traffic survey details are plotted by desire lines ?
Options :

1 % Accidents

) Origin and destination

3. % Classified volume

4 % Speed and delay

Question Number : 166 Question Id : 97675518558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT Gde ¥ {50 UeR & el Siaifyy Y@ gy 2ifhd far o g»
Options :

, . EE

3% 9 R

4 % T SRR

Question Number : 167 Question Id : 97675518559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

According to Indian Road Congress (IRC), for the design of traffic control signals, the pedestrian green time required
for the major and minor roads are calculated based on walking speed of:

Options :
1. % 0.5m/s

> % 1.0ms
3 ¢ 1.2 mys

4 % l.5ms

Question Number : 167 Question Id : 97675518559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URATY S HIUF (IRC) & IR, JIararg Ha=0 & feured & foru AR T GSo! W Ugd giiFd!
é?%rqmw%éﬁz}ﬁuuwﬁaﬁwﬁﬁﬂﬁ wwm&fg@

Options :

1% 05ms
r # 1.0m's
3 ¢ 1.2 mfs

4. % 1.5m's

Question Number : 168 Question Id : 97675518560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

As per the IRC guidelines for design of flexible pavements by CBR method, the load parameter required is:
Options :

| % Equivalent single axle load

>« Cumulative standard axles in msa
;3 % Number of vehicles (all types) during the design life

4 % Number of commercial vehicles per day

Question Number : 168 Question Id : 97675518560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR feRNFSRI & 3FUR. cBR fAfY gRI 79 B (Uadie) & fEuz & v 2axgs YR A9 a1 82

Options :
| % 9HJe UHA T HR

- nlsaﬁmwgﬁ

s x SO ST & QR aleH! (FH UDR o) &l §&

Question Number : 169 Question Id : 97675518561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the height of free fall of hammer in the Aggregate Impact Test?
Options :
1. % 35cm

> % 30cm
3.« 38 cm

4 % 45cm

Question Number : 169 Question Id : 97675518561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foreTTa (FHwY) & T9Td URIET H 84T & Ha T &1 Sl fhal aidl 2

Options :
1. % 35cm

> % 30cm
3.« 38 cm

4 % 45cm

Question Number : 170 Question Id : 97675518562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the test on Aggregate, to determine the resistance of aggregates to weathering action:
Options :

1« Soundness Test



, % Crushing Test

3 % Abrasion Test

4 % Bitumen adhesion Test

Question Number : 170 Question Id : 97675518562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Argd gyEl § uftRiysdl of Sifg & o e ) fou oF a6 udieon &1 9m 391 82

Options :

| iR ol

5 % G TRIE

Question Number : 171 Question Id : 97675518563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the test that is not commonly adopted for evaluating the strength properties of subgrade soil in pavements:
Options :

| » California bearing Test (CBR)



» % Dynamic Cone penetration (DCP) Test

3 Pressuremeter test (PMT)

4 % Plate bearing Test

Question Number : 171 Question Id : 97675518563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 172 Question Id : 97675518564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not correctly matched?
Options :

|+ Float test : Water Content in bitumen



, % LosAngeles Test : Hardness of aggregates

3 % Penetration test : Hardness or softness of bitumen

4 % Bituminous mix design : Marshall method

Question Number : 172 Question Id : 97675518564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 173 Question Id : 97675518565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given the following parameters for a concrete pavement:

r —radius of load distribution, P — wheel load, h — thickness of slab, p - Poisson’s ratio of concrete, E — modulus of
elasticity of concrete, K — modulus of subgrade reaction.
The combination of parameters required for estimating the Radius of relative stiffness of concrete slab is :



Options :
| % h. K o r

, v ELK 1

;% EEKur

433 P-uil,:[{-.!-l

Question Number : 173 Question Id : 97675518565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 174 Question Id : 97675518566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The recommended maximum spacing of contraction joints in 15 cm thick reinforced slabs of rigid pavements, for
highways as per IRC 15: 1981 is ....

Options :

1. ¢ 13m
) #% 12m
3 0% l4m
4 % 10m

Question Number : 174 Question Id : 97675518566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

52 & 9ERT & HoR & 15 cm AlC AT WA H § ISt &I '
IRC | 1%%%? fere HfeAl & 1 Ygrad Wil &I SR

Options :
1.« 13m

> #% 12m
3% 14m

4 % 10m

Question Number : 175 Question Id : 97675518567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following 2 statements (S1 and S2) pertain to design of flexible pavements:



S1 : Most flexible pavement design procedures are based on Benkelman beam deflection measurements
S2 : Elastic deflection is a practical non-destructive measure of pavement stiffness which relates well to fatigue failure.

Options :
1. % Sl istrue and S2 is False

> « Sl is False and S2 is True

3 % Both S1 and S2 are True and S2 is the correct explanation of S1.

4 % Both Sl and S2 are True and 52 s not a correct explanation of S1

Question Number : 175 Question Id : 97675518567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 176 Question Id : 97675518568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sum of all the forces acting on a body is Zero. The inference that can be deduced from it is :
Options :

L% The body must be in equilibrinm.

» % Thebody cannot be in equilibrium.

;3 % Thebody may be in equilibrium provided the forces are parallel.

4 The body may be in equilibrium provided the forces are concurrent.

Question Number : 176 Question Id : 97675518568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 177 Question Id : 97675518569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A body is acted upon by a force system. It can in general be brought to equilibrium by the application of :
Options :

| % Aforce acting on a suitable point on the body.

, % Aforce acting anywhere along a suitable line
3 A force acting along a suitable line and a moment along the direction of the force

4 % Awrench acting anywhere on the body.

Question Number : 177 Question Id : 97675518569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 178 Question Id : 97675518570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The point of contraflexure in a loaded beam subjected to bending action is one where :
Options :

| % The bending moment is maximum

> % The shear force is maximum

3  The bending moment changes sign

4 % The shear force changes sign

Question Number : 178 Question Id : 97675518570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 179 Question Id : 97675518571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Two statements S1 and S2 pertaining to D" Alembert Principle in Mechanics is given.

S1 : It states that the net external Force F actually acting on the body and the inertia force Fi together keep the body in a
state of fictitious dynamic equilibrium.

S2 : This is a hypothetical principle and is independent of Newton’s law of motion.

Choose the correct answer
Options :
1. % Both S1 and S2 are True

7 « Sl is True and S2 is False.
3 % S is False and S2 is True.

4 % Both S1 and S2 are False.

Question Number : 179 Question Id : 97675518571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 180 Question Id : 97675518572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A solid cvlinder, solid sphere, and a hoop, each of radius R and mass m are released simultaneously from rest on an
incline at the same elevation. The order in which they will pass through a common mark at the same level is :
Options :

;% Cylinder, hoop. sphere

» « Sphere, Cylinder, Hoop
3 % Hoop, Cylinder, Sphere

4 % Cylinder, Sphere, Hoop

Question Number : 180 Question Id : 97675518572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 181 Question Id : 97675518573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A thin spherical shell is subjected to an internal pressure p. What is the ratio of volumetric strain to circumferential
strain in shell ?

Options :
1% 1

Question Number : 181 Question Id : 97675518573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 182 Question Id : 97675518574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bar of length I and cross—section area A is subjected to a gradually applied load P. Another bar of the same material,
having the same length L, and cross section area 2A is also subjected to a gradually applied load Q. If the strain energy

2 g oy
stored in the two bars are the same, then the ratio = $57

Options :

oy

% 2
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S
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¥ ]

Question Number : 182 Question Id : 97675518574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 183 Question Id : 97675518575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the Mass Moment of Inertia of a Metallic Circular Plate of uniform thickness ‘t°, radius ‘R’ and mass density
‘p’. about an axis passing through its planar surface.

Options :
| % 025tpmR

5 % 0.5tpmR?
0.25tpnR?
3. ¢ U2 LP

4, % 025tpmR?

Question Number : 183 Question Id : 97675518575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 184 Question Id : 97675518576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The major and minor principal stresses at a point on a body are 10 MPa and -10 MPa respectively. Determine the
maximum shear stress at the point (in MPa units)

Options :

1. % Zero

4.« 10

Question Number : 184 Question Id : 97675518576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 185 Question Id : 97675518577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the ILD (Influence Line Diagram) of a three hinged Arch of Span ‘L’ and rise *h’ due to horizontal thrust *H’
Options :

. . . L
Square with its ordinate equals to ar
. . . L
Square with its ordinate equals to o
: . . « i L
Triangle with its maximum ordinate at center equals to i

: . . « i L
Triangle with its maximum ordinate at center equals to o

Question Number : 185 Question Id : 97675518577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 186 Question Id : 97675518578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The analysis of a Kinematically Indeterminate Structure by Stiffness Matrix method is also known as :
Options :

1 % Force method

, % Compatibility Method
3 % Flexibility matrix method

4 Displacement method

Question Number : 186 Question Id : 97675518578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 187 Question Id : 97675518579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which method of forecasting population, the percentage increase in population from decade to decade is assumed to
be constant.
Options :

1 % Incremental increase method

7 « Geometrical increase method
3 % Arithmetical increase method

4 % Logistic Curve method

Question Number : 187 Question Id : 97675518579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 188 Question Id : 97675518580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The result of analysis of raw water sample from a source are given below.
Turbidity : 3.5 NTU

pH: 74

Fluoride : 1.0 mg/l

Total Hardness : 350 mg/l

Iron : 2.7 mg/l

MPN : 60 per 100 ml

For the above data, treatment has to be provided to the water for the remowval of :
Options :

|« Hardness, Iron, followed by disinfection

, % Turbidity, fluoride, hardness, Iron, followed by disinfection

5 w lurbidity, fluoride, and hardness



4 % lron followed by disinfection

Question Number : 188 Question Id : 97675518580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 189 Question Id : 97675518581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The following statements S1 and S2 pertain to water treatment scheme.

S1 : The efficiency of sedimentation process, depends on the difference of specific gravities of the particle and the
medium.
S2 : Disinfection being the last process in the treatment scheme, is not affected by poor coagulation and flocculation.
Choose the correct answer.
Options :
1 % Both S1 and S2 are True

> % Both S1 and S2 are False
3 « Sl is True and S2 is False

4. % Sl is False and S2 is True

Question Number : 189 Question Id : 97675518581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 190 Question Id : 97675518582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A water sample contains 10 ml/litre of OH" ions at 25 C. The pH of this sample is :
Options :

1.v 3

g

Question Number : 190 Question Id : 97675518582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 191 Question Id : 97675518583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In sewerage system drop manholes are provided when there is a:
Options :

| % Change in size of sewers

» % Change in alignment of sewer line

;3 % Change from gravity system to pressure system

4 Sloping ground, with drop more than 0.6 m is required to control the gradient.

Question Number : 191 Question Id : 97675518583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 192 Question Id : 97675518584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The features of anaerobic digestion of sewage are given. Identify the incorrect one.

Options :

L% Reduce production of landfill greenhouse gases when otherwise these untreated sludge is disposed on landfill

, % Reduction in volume of sludge and improving the dewatering characteristics of the sludge, makes it easy to dry.

3 % Reduces odour/ flies problem.

4 High operating cost,

Question Number : 192 Question Id : 97675518584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 193 Question Id : 97675518585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The beneficial association between algae and bacteria known as Symbiosis. has been made use for the treatment of
waste water in the following unit:

Options :
1. # Imhoff tank

,  Oxidation pond

3 % Activated Sludge tank

4 % Anaerobic digestor

Question Number : 193 Question Id : 97675518585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁﬁm&?ﬁﬁf@ eﬁ@éam;ﬁ@ Teuiladl &gl idl g, BT IUNT AURIF o d & URNYH o g

Options :

1. ® E%Tq;%a;

5 GBI T



4 % SATHAT Y&

Question Number : 194 Question Id : 97675518586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Rules / policies / Schemes is not Initiated by the Govt. of India in the year 2008
Options :

L% National Urban sanitation policy

> % Hazardous waste Rules
3 % National Mission on Sustainable Habitat

4 « Plastic waste Rules

Question Number : 194 Question Id : 97675518586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 195 Question Id : 97675518587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the aerobic composting process, when the C/N (Carbon to Nitrogen) ratio of Municipal solid Waste is less than 25 : 1,
identify the material which is added to it to increase the C/N value, to avoid the production of foul smell.

Options :
1« Saw dust

> % Non-edible oil cakes

;3 % Slaughter House Waste

4 % Green biomass

Question Number : 195 Question Id : 97675518587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 196 Question Id : 97675518588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following statements S1 and S2 pertain to two procedures for disposal of Municipal solid Waste.

S1 : Gasification is the conversion of waste and biomass into liquid and gaseous fuel as well as solid residues and char
at 500 C-1000 C in absence of air.

S2 : Pyrolysis is a partial combustion of organic or fossil based carbonaceous material, plastics, ete. into carbon

monoxide, hydrogen. carbon dioxide, and methane, at a temperature of 650 C, with controlled amount of
air/'oxygen.

Identify the correct answer.
Options :
1 % Both S1 and S2 are True

> % Sl is True and S2 is False
3 « Both S1 and S2 are False

4. % Sl is False and S2 is True

Question Number : 196 Question Id : 97675518588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 197 Question Id : 97675518589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following methods is not used for the disposal of hospital waste?
Options :

1 % Thermal treatment

,  Landfilling



;3 % Electropyrolysis

4. % Incineration
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Question Number : 198 Question Id : 97675518590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the least preferred strategy of Integrated Solid waste Management according to their Environmental benefits?

Options :
1« Land fills

, % vvaste to Energy



3 % Composting

4 % Recycling
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The major constituent gases produced from a land {ill site are;
Options :

1« Carbon dioxide and methane

, % Carbon monoxide and nitrogen



; % Hydrogen sulphide and oxygen

4 % Ammonia and Hydrogen
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The anaerobic fermentation of biodegradable matter in an enclosed space under controlled conditions of temperature,
moisture, pH, etc. The waste mass undergoes decomposition due to microbial activity, thereby generating biogas
comprising of methane and carbon dioxide, and also digested sludge. Which of the following options is described here?

Options :

, % Plasma Pyrolysis Vitrification



> % Incineration
3« Biomethanation

4 % Autoclaving
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